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1 was carrying 2 will be flying 3 is trying
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=3 AI Mol LO|E2 M|, 1 o
P49 ol Ko Fek=
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A @ has changed ® conquered B | @ has been
® chose © set 2 Iz 181740 MA=AL, 1 S22 oy
H 2=t Q@
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4717 OHIHAE Aol 20| 1953 Edmund Hillary
0| Moz gg% HE5 0|52 2 ZOZ Hi5| YCH= X
iy 2 ATt 2H30|0t SHXIZE SoHEL QU
X 2Eo %%F =22l A1I71|01|A1 7Fg =2 Mol s MR AU,
» 19538 Has FEst U2 ARIFQ kA AIY
H(conquered)2, 40 242 11 0212 X|Z7HX| Hatle 24012

2 s =H(has changed)22 MOk &

sore 200H0| = 717t St Ol= WSl AME0|QICt 1
2Lt el FEREE ;9 A0 otHLh 17919, George
Washington0| ZA[0] ‘THEE AFEF0[2t T LAKE Aol fIXIE &
o, J=2H 18 F0| A50] ARZQACE J2iL T HES 22
N %3" f 18122 % =0 F= 207t 240 2 2 MY
0|2 SHERICE JeiLt I 1817490 MAZJT, I F2 o2 A
#EIEI%“J.
1 » @ MASRH XK A&EE= 0|22 sz
®, © ZZ} In 17912 during the War of 1812= 7¥|%{Ql
I AEE UEHHE R DA

IHB

]l_l-j-l QI-E_%!
Ql_l-ill Siad

O o

EXERCISE

A

1 had lived, got 2 had already heard
3 caught, had spent 4 called, had stolen

1 Julie2t MikeZt 0|23 [ OS2 159 SO &M HOR2 A
EH AL,
divorce 0|Z3atct
2 U7t orol O AMe 2o =S W Hok= 00| XS &
OfAl Y11 AL
3 ZEHO| I =58 e W = 00l =2 Cf MHE SR
4 U= ZE0I| MatohM Sa7 AHQ| Xghe S/ 234t

1~4 » DALECE OO UAH U2 WAHRZ = LIEFHACE

10  G-ZONE

1 will have finished my homework by this evening
2 have been playing cards for five hours
3 will have been married for 50 years next year

0 Ar=mi H|7} 2|1 ok
1 U= 25 MH0|3H SHE O OtE AoICh
> O)2HS] L AIETMXIQ] =S LIEHHEZ Oj2iet=z
2 152 5AM Ft==018 ol U
> DA AAE|O] SO ASEL U= LS LEIHEZ SHXY
2Tl
3 UHE0E R27H Z=3 K| 500 Eot,

=21
» D[242] O AIETIRI| A&E LEHHEZ D22tz

i}

C

1 has been reading the papers for
2 will have fixed dinner
3 will have seen the movie three times

—
v

A AIEFE(O] SO = AISED Qs SES UEUHER
SRR TN

2 » D] O A 2teE 28 UEIHER O)2itE
3 D2 = AIEMRIQ BRis UEUEZ D)2i=
D

2 a. James= K|S Cf 3L} (2=R)
b. James= £XE A

1 a.» X5 ot ACt= AL igs
b.» TAO AZEHM XIZE 8 EUS LIEH
2 a. > 3H9 =S LIEHH

O
b.» SX0| A4 ES XY G- SUARIYHS 4

Dad, because he had been doing the gardening
[because he had been gardening]

EQY 2=0| ?2| 7IE REE HCE B =, W 6SH Janet

2 X2l KIS +2/3W, Ofs HUS AT, oks Ho|
35 BISC,
0 L7t Q0 AR HIS 20 SASTF? o



— JanetO[tf. LS AHAS S2[6kd UL
1 =7t &0 220 0] 20 AUE=F? A
- OHﬂ'IXIOIEh Lot FEs ok UAW| WE0ICh.
PS
o

2 &Z510} / wrench HIX|[ATHLA] /

7| WRO|CY,

[

4]

do gardening
dirt &%, &
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A @ will have developed B 1 © are declining — have
been declining == have declined 2T Q @

A
LRINES YOI O 00152 Laith. ofxIRt
2= 1L X2 L) o2z U ATso

HIZIR| BECE T2 2 B S0 OfRize) AR wY

, Ol AES2 Ot=

| HAlE e
FAMRIX 2715

5l 912 20|

» Oj2He] O AIEZIA| 22 &0 AS LE LIEHHEZ T2zt

B

SRaFEAE BES ol 7tk

EOF U= SR2FEA Ul 02| S o Or27F /UL o AdE2
0jZi0] 50| 2ES got ACh= Q0|7 AFEICE Nolazk=
4149 AZ0| AZALE HolOF Lt +=2AS0| 22 M 24F
20l Nolag +=23XI2t NolaQl &= St QI OFA[OFRt 0P
27t & U= TEA WA = MAX| Dot 28 W20 o E
A2 AN RE7H OIS JIS0IX] YL, SRETEAE
2 2F0iIA & Ao|ct,

1T » Y™ 72te UEl= forlt XR0B2 MLEE S| A

rr

2 THR
& Aol UTh= OJ0IE LHEILY| 2l 2= TS T
SIMAZE MOF ST,

olad| AEf7t LIS M NolaS 7621 =2

REVIEW TEST 01

A 1 do you come

rode 2 have just heard
has been
B 1 hear

is still moving

were you doing & will
will have been driving[will have driven]

are taking 5 had already left

had worked[had been working]
C 1 had turned off the lights in the room, went to bed
had been studying, went out 2 get back, will have
cleaned[will have finished cleaning] all the windows
didn't recognize me, had cut my hair very short on
Monday
D@ E@ F(A) doesn't (B) has begun (C) is
disappearing G 1 ® 2 It has been an important
Chinese export since that time.

A

1

Al SHAI2 0]
B: K= ASIAOIA EfOIXIS 7t 34 1) 22| 7152 Hof
2718322 2 0|F3HAHL.
> B2 AAIKQ! 20| OFLIZ XXl HEIS LIELSE o
TR

ZA017127

Ol
il

2 A s EFE X0l Q0. Ue EF 22
B: 8. 0| M0l 2t m S EF 0], KHO|ARUAOA.
» 1A X AlB(last year)ofl St LO|2Z IAHAK|
3 ATE X1E;171| SHE UL A0iR?
B: 3T0| 28 EE 7ate AME Wg SAWHER.
»AME E2 A2 UZ AEE HRI0|BE HAAZ
close down Hgiotct
4 AZIOHOFE A7) uu?
B: 8, d= 622H 7[00 & AU
> WHOIA STNIEK] A= HE0I2 2 Sixidz
5 A MMEHM Wao SHNS O H & 6t JAUL?
B: 0jop7[5H1 MEL UK.
» U EX A0 X3 F0|E Ag LEHHEE AT
make noise A2& WL}, HECH
6 A Rachel0] ZH0j&T0IM 158 301,
B: O, HZ? MatohAM =otoll FOFCE
» Lotz w7t SSEOE S U2 wille MEF
congratulate Z3t5tCt
B
1 JH0IAM RA7H E= SA HoIH A4S
» ME LIEHH = SAROIM= 01219 LO[2t= STHAINE At
6‘:}
2 9ANH 2= CH AZI 286t Qe ALY U O o FAls
FHH BfLCt
> WHRE] AR SE0| O0j2He] Ol AIFTIK| AlSE AYUS
LIEME W= D2iAtETtSEe ArSe (0Ri#EE 71S)
3 HIRE7(71 Orx 22011 U= Q2 JItHZ 20 AHAZ| B

o
o
pl
202
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Xtz 0[0] HLt HEFICE
» AL o U LIEHHIN & FR0= HRA=RE MEF
6 2015H0] DHELY 2E[5IS T Woods M= T1320i1A 50
SOt Lol AU
> AR B 010 AlEtE &0

WAHO| O AR &
0)F 20|22 WHARE MX|RE ZEN

Xisio| ojoj=

i

0 Ann2 FYS 9 UM X2(0f 2ot MS HRACE
» Hals H2 X0| 20N MG 2 AIFE AMDZ T2
=S M8
1 Chris= & 2te| 22 111 LA HXt2|of SUCE
» Qo] =5 & AIFO| HARIM = AIFE 010|122 1jA
YU=E ALSE

turn off (®M7|-714 S2) 1t
2 R HHEUS I Lhe EAH0IAN SE6tT UL
> HEE AFEEC MY SRS ARGHM AlLotEH S0/l 2
IAARTINSS ArEE
3 G0l S0t M Lhs t
» Ol E- A E REE HAE &Ecl =2 A0l2k= 9
00|22 O|HAZE AIRE
4 U e LE YOEX| 23|, Wt 22U H2|S i
A 7| HZO0|ACE
» H2IE 7 K2 0| 2177t XHlg Lot X| S5t U0t of
MNEZ HAARE AEE

o)
Qeie

ol

D

O W7H ol 2t o 11 0f7|i= 2810 UUCE
@ Tim2 285 73 1
@ L= OfHl CH2|7 B2
@ W HI7 = U @F 10A|01I
® JU= = otUs0l MEST
» AT 5t2f JHM S T K20l gl= Z0ISE AE LiEH=

Sixjet=(has gone to)= MOF &

-|> rr
_O'E
il
ny
4>
£Q
]

ﬂHN‘
5
o

E

@ B2 7t SQ AISS st 20| &g Tt

@ Isaac Newton2 168740 S| Hzlg LUE[E7HIIC
@ OfFL 11 =50| OEA & Q2 S0Z=A X Z3MCt

12 G-ZONE

@ 22|= Thompson 7t&& 23St 2

©® LHEH0IH = 2AA 20'—.3 S &gt A0| =it

» know, understand 59| HEISAIE TAHC = 79| M0|X| &
ooz, dxigtE(have known)2 HIFHOF B

F

HIUSS X7 Ao A= LS9 90%7t FO QUCE IR0= 0|
JICHR] 2O W2IXj= X2t Uels =2 M2 9ot M8 o S
YTICE G5 tiF YR X|F0M= Y39 A7t 20t O[40|Lt
=0} JeiLt £29] 7|F HERR Qle F39| Wekit =7| AIRIRICE
AS0| QT OISt £ 2 ARZIX| D QU= Z0|Ck
» (A) EF XI99| 7|5 = YAIFOIX| 9410, X&XQl SE4g THX|2
2 HMAINIQ! doesn'tS MOF ST,
(B) zI229| 7|5 HatE Yokt Yask | AlEfsh= X022,
=92l has begun0| 2t0F St
(C) E20| SIXH At2tXl= FO0|22 SIHTISHSS MOF St
Antarctica &= thS / thick FH&; FH7t ~2! / recent

£/Z29| / ice sheet Wst / worrying A&A2{2

G
S22 AP0IA 71

EFUS2 = HZ ALURE Ml it S22 K=, HIH) X
719t &, 1,0009% O Tl & AIA ] LAX|7| AIZRICE IR2
M 0|22 =2 Q8 +=Z0|UCL
1 > IHRE AN ALE= 428 UHEIHEZ X2zl
have grownO|Lt &#xi2t2TIS4Q1 have been growingOl
E|0{OF BtCY.
2 » IARE XX K&E= HEHE UEHY| ffd dixi2zs
2ok
homeland &=, 1= / consume AH|SICE “HCE ORA|
Lt / beverage 82 / shrub % / porcelain Xt7| /

export +&&



09 can, could

EXERCISE

A

1 was able to 2 could &= was able to 3 been able to

4 could 5 be able to

a

1 Diane2 HAE SHXIL, MAIZIO| 7RSO =2 = AU
» W7 S AE ot YS LEHHER be able toS At

2 SueE AR M & M MES
» WO LHHHQI S3S LIEH= couldE ARESHE EU, &
HE HE0llAM HA oSt 22 s 2012HH be able toS

oo

AHE
3 0] A2 ISt 38 A= NES &2 &+ UL
» AZHO| ZZAIS HALOF £ 4= Q2O 2 be able toE AL
severe =il al2fet
4 Js20l7HAE

=
2t can Y couldE AME

2= ORX[E o2 ZL0M 271 2 5+ AS &

» AH| x| 7o
5 FAM20
Lick.
ZEAF JHE G0l £ 2 2T E be able to2 AR
ski down EZ5iC} A7|S EfL LH2{QCt

B
1 can't park 2 could beat 3 can't be 4 couldn’t go
5 could drive

T A2y o0l FRtetd 4 glsUd.

B: Of, ZLELICE BEXLUS £ 202,
» =5|(AF4)2 QoI LEHH= can't

2 A U3] OHHRIAIN $FoIM SHES DT S0,
B: SfOF. OFHXIZAM FHOMS W, =& Tt 07|44,
» Q| SHS LIEHHEZ could

3 A O] AMME St 27t QIUR! R2l= Xt F e OHdE &
QL.
B: A7t &t & B3 ﬁ'—ll'—f

» B8Y FE5=2
4 A Hanna®l IE(OfA} L7} QF 20T,
B: LhiE € a0l AM SHLIS YEsHA 2 4 iU

» 20 SHX| REt LS LEH= couldn't

5 A WohEOIM gt o I H X2kt 20| YAROL

B: AFRAI0] Z17t0] HOLM RI2 Bt AjZE Q0 S22 4= AUA

=

» TS| UBHQI S LIEH= could

C

1 can't bring electronic devices into the exam room
2 Could you put out that cigarette

3 can't[couldn’t] have driven her home

4 can be unpleasant at times

—
v

SI7tE LEIUE canl 282l can't
2 » FSoH 8’83% HSH0|22 canECh= could?t ME
put out (2&) 1Lt / cigarette EHf
3 » can'tlcouldn’t] have v-ed: ~Q[2H]S 2|7t QiCH (2 Lo
LSt 45t 285 £5)

4 »ItsEE UEHE canQ 2 O BIZZIGHK| 242 20| M

unpleasant 2218, 72 Lig, 225

D

| was able to

Lt= Laura?t E1E I MS0l= 2471 017110 AUXSE H=
W7t J4E 012 2= URALCL
Q S7+ET 710N 01712

— L= M30l= SIRXI 2H3I5H0 01 & UUCL
» S I AE0f ol & UAH L2 be able toS A
Of LEHH

come back S0tL}; *Bts[siCt

Jlm

F

[o]]
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A J72 22839 7| ZAYU Ut B 1 can, be 2 can

change the environmental quality of life @ establish
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ALRIOIEt, Slm7IE XY

A5 YR 272U X200 82 U AB x|°='ou 24

. =
2s Hf% = °'__§, o AlEE oHofl ALt ot 2ef0ts 271
=2 =7t OFLIEt,

il ru

» cang MA{ L5t
» cans MA{ O] LIEHH

o AldE SXY ’é!i% Mot A9 o=

FIﬂJ roi

o~ -

'I 0 may, might

EXERCISE

A
1b 2c 3a
Aol Z=20| QUIE! / b. =S FHOAIZ! (7]8)
2 O AMXIE Bt 27 / c. YA 0[0A] OfH AH|Z= A
sl QF ELICE (5171)
3 s A Yo JASKx B2L, /[ a. O E0N FH|Z HEE

term paper( M2 HMESots) 210

1 may as well give 2 may as well go 2 may well be
good at 4 may well get

1 2= s A0l g0, 2t AE=sEE A0| R,
give ~ a try ~= Alk=ofi 2Lt

2 U= AR el o Holl 7k

SYHO0| =1 H0f Bt =

200] ALk

Of0t 2:3t0f 54 2

3~4 » may well: 00 ~ Zi0|C}, ~5t= 20| GeisiCt

C

10 20 2 might forget — might[may] have forgotten
4 may not have come — may[might] not come

LSO 2REXIE =2t

» £B0IL} 7589 |ght
2 G0l Mfsiol =t #eIE

3 U= 3Qjof it IUE MY A A0S = Tt
» P74 ARHO CHEH S2HAEH £52 'might have v-ed, =
"may have v-ed,2 LIEHHCE

4 Erika= OFELCE JUiE L THE0| K] 4SXIE @20}
» D2 &2 LIEHHE may[might]

D

1 She might have gotten stuck in heavy traffic.
2 She might be in the library.

3 He might have walked his dog.

4 She might have studied it in school.

0 A XISR SBAE #2271 9ol oTlo] A=K S5t
B: JaneO| J1& JHMEXE 22t
A LindaZt off ALl ZHOISHA| Q42 AX|? RZICHI UH=H,
B: im HO| UR=XE 22t
2 Lt= CindyOll7| & 20| 01, 1147} ofciofl QL=X] otL?
B: Jld= TAEo| ASK|= Sat.
» SR AME[O]| CHEF £=0|22 might
3 A James’t 2= OFE0| 2 =X SF5t.
B: J= A7| WS AHAISX | St
4 A J4E OEA O RS Y=20E ste HA?
B: Jli= SfulolM HIRSXI = St
How come S + V? O{M|5t0{ ~oH=7+?
1, 3, 4» 79] Yo Thdt FZF0|22 'might have v-ed,

—r

1 She may be in the cafeteria.
2 She might be meeting with her teacher.

i
0z
N

Jackdt Sarah= SophieZt OTjol] RU=X] 22X |2 H J1X|
et

1 Jack: 2= L Aol USKIE S22t

-



2 Sarah: U= Mgt 0[01712 sHd UASK|E 22t
1~2 » may@t might= XLt O]2H0f TS F==0ILt 7hsdS L
EHHCE might7h may=Ct 2HaAo| He 7t Doixict
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A May, |, give B T You may have seen the movies

may well Q@
A
Z55l FAIUELF? 0K Thomas Davenport MAIM H29| &
Aot S7F M HEA &S TAI=RI0 ol s FAINS

Ltk Davenport M= RE&F A0l #2F OfL2H ZHTAS
2 A0 UL I8 2 U-ZME H-AIC,

— J=H 2 Y2 E BEWFAZ FHEAE 2717

» 0] 29 may= SUHQ| 5715 oh= J&0| 40|11 S

B

AlZto] Qo gloE ALl

20164 5¢ 12¢

Alex Howell (lllinois &)

Mz 0] 20| At CHZO|2H 0 HZIRILICE &= 7§ E'0j| 02 Ciet

5t SEZ0|UZ. A M= ‘gl 20| #W o S0|TITIsIC T A
ZIRIUCE O FEEE EAS & UXIEL 0] S SiX| UoH =7
2|o] ULTHS AW AL UL = O AlZH0] @2 Z2|7l SHXIEL,
oS RIS ZEX|7E AXQ. OEX|2t HO|XIE 711 L, S7HE of
ot HCh= M2H0| E= 2| FetslRl

1 » may have v-ed: ~3#SX|= R2Ct

2 » may well: ~Gh= 20| FE5ICH / may as well: ~5t= 0]

P
Q O (E28) ZAH
@ =H[HE]
@ AR E HA|

I 'I will, would, shall

EXERCISE

A

1 Would 2 will 3 shall 4 would 5 shall 6 would

=
C

1T XL AT & A0
» ZE3 HMto|Lt Rio*% LtEtH= would, will= 7HssiLt
would7} L8]
2 U7F AT A A1 2 2, W2t T TS A
» 019 XIS LiEt= will, shall= 7Hsott willo] el
3 ZMIEECL AZ TR, ofm?
» ‘shall we ~ 7= XA O, 28 2, &
2 EY M R A
S A0 Lis =22 Hof U5 2ol Y2k
0l RfE RHE LS LiEHHE would
Of, B2 FRZOIA 2ULERL F A0 2HEDF?
Y| OAE ZE shall
6 = OFSOIAH AFHAS AL ALY, 1 43 X7
K| PEUL.
» AR Y| FAO] mat willel ZEAR wouldE AL
keep one’s word 2f£E X|7|Ct

rr

27jol2 e S

£
M
0||'|
52
0

o
Oif

1 would 2 will 2 won't

1 a Jd= o O X3 GetE =Haf 7h2 34t
b. Jim2 2/0l|A| 1 2|20 FAISHACIT LEHCE
» a. A9l g LIEHHE would
b. AHl YX| 720f 2 willel 243 would
conference /9|
2 a. 10 CHoh AFStX| O L= 7t HEs A2t =Hsh,
b. HIZF T0IA 2 02 RSHACHH, LH7H Y Al s Z.
» a. D22 0ES LEHHE= will
b. 019 XIS LtEHH= will
3 a FARFE £ ASMR? 22 HelX| ¢g Hoa.
b. Monica= HF &7t LM LIOIA| L&At 5HX] 2o
» a. 022 OI5S LtEHHE willel 23
b. 2% AZ™E LIEHE= won't
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C
10 20 3 Will— Shall 4 won't — wouldn't

T L7H o ARt & AT FARR?
» ‘Would you please ~?'= E&& H0|Lt RES LEHY
2 A MEsH ZE
B: o 2 MOIAAEZ.
» 0l24e] 715 U= FE2 will, would & T 7Hs
3 0] M2 BHIL AlZI2i9| 20l=d|. 92 HE 2= 2N
» YO oAE 22 U= “Shall we ~7
4 = W 4L A0IZS HX| 20 LK THEJOIA 2 X2}
= AT

AIH| x| TEEof| w2t won't7t wouldn't7t =|010F BHCL

e

D

1 will like 2 Shall we go 2 would like to reset

» 42 LEHE will
2 » YOl QAE 22 I Shall we ~ 7’5 2L

3 » would like to-v: ~ot11 AlCt

will, get, in

Az Ot Z0| & 7|Hll &7|7t = AlIRE il
B: AHoHA| OF. R21= M SHZ == AS HOk S0| W= S2
O[Ol
» Dj2He] ofl Chst &t oI=S LEH= will
= O7IR] &40, Mo

on time Azt
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A will not care about a single penny B 1 ©
we would sell homemade cookies and other snacks
QF

T 7 MiE 7t 1S o, g2 SiL7E 92582(011 LIMX] 5t
L7 9.24222tH MEs SUMNY RES A= T 1HUo A
[e)

7HA0] 999==2(et 10==2(2tH, oot
2|9] =7t gt ME2 9€2{011L LITX|
2[0fA 2oh| HE LT,

=

= —

e 2 Zd%!LIEf. Jae2 2
C
°

16  G-ZONE

b
o)
Hu
>
ég
[n

A: Baynard 11S3t0IA Lauren Knight7} At
Ut M= Og

Y| e Sl BE AAE 2FY S0l

Scottg HFSHL AFULE Scott =, 2312 dA= AEHS
AL {EH THENR?

B: Moz 250l floll =Ml F7|L ThE ZHASS 2 JSUL
=oti= FEl S /M= 21X UL

AL E1 27K OUA & 247197

B: AME2, 0[0] 2 Q. M| gt EIFL 04340] O[X| &IX| = AE
=2 FAHL oR. O30 BE VISE2 0| Yol AsLICE o
M 227

Al 7 ZHQ. 10tlL, Scott!

1 > @ FEY AMZL 20|22 AH LX|| 7210 w2t thatH

QtoilA DJHE LIEM= willel THAE wouldS MOF BHCt

2 » A9 HES LEHH= would

Q U= SHUE2 HAS 2loh M RS 7ISC
> B RIS VIS L

'I must, have to, should,
ought to

EXERCISE

A

1 must have gone 2 must be 3 should have done

1 O= U2 80 E38810. L= St 5 EX| 23101,
» DtAQ| Uof CHh Zst EAE LIEHHE "must have v-ed,

» TEOI| SEA| &5 ol tht RS LiEHHE= "should have

v-ed,

1 must 2 have to 2 have to 4 must 5 must



C

0| OIFRIXILL 0|, R2= XIg MHLIOf oH.

» S| S LIEt I must2t have to & Ct 7ts
Jessica= LHE ZAIZ OAFE 71| HIE0] 2EE 1
A= =2t

ra
4n
=}
2
0

» & 09| ZEAIS CIE0F £ 4 91252 have to
L7t e HE &2 4 U0, He 2E Ag SA & Hert |l

0.

» ~g LT} GICFel 2oj2l don't have to

U st 2 molls wse 0{0F S

» O|FE LEH T must@t have to & T 7ts

T W AS AT QICH T i 2XI0| S-S

» SHAISH 2ZS LIEHHE must

1 should take a few days off 2 should have attended

3 should see

D

4 should have fastened 5 should know

Jakee 2= O

Of 3HCt,

John2 EZ0IM AERAS BT QUCE J= HE £{0{0f BHCL,

» RS LIEHH= should
take ~ off ~2 7 Lif #

o

WOl UL = o3 A AKX EUA

Al

ot

I 42 OFF U0, Uk Lig & FA3R0{0F 3=,
» P70 SEX| 42 oj| tist RZE LIEHE "should have
v-ed,

=0| OfZ 11, F7} o

» WQE LIEHHE=

FSICE, QA0 A RIZFS HOtOFZICY,
should

sore throat OFE 5 / stuffy nose 28l I / see a

doctor Heloj| 7iCh TIES gt

J= NSASE MR Ao TRl d= ANEES [Mo{of
At
DA BEX| 42 o Cht RZS LIEHHE Tshould have
v-ed;

HE O] SIMOIM & E S Lol
SRR EHAL

» AU FFS HEHUE

01, 224177 Smith M7t

should

1 don't have to = mustnot 20O 3 O
4 must doze off — must have dozed off

S0}, i IS

LIEfLE LHEO0] S0{7}0F S22 must not
cf. don't have to: ~& Z7t Qict

Susan2 ES5tX| LoL7} CHOIHES & LRt gich

» ~2 Wt gitf'= 20|12 doesn't have to

3 Carl2 2iHLt Clara0lAl ZIsIC. 2= JHE 20| £0t6k=
7 Sl
4 U= 37H 29 E0l 3 Lo 7|YUX| h=rt E4E A SE
=
» T 22{7F e TH0| THSH 25t £Z0|22 'must have
v-ed;

doze off 74 ECf, X0| SCt

should, have, checked, the, return, policy

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

must not B 1 ® He =58 Q&dHof ikt ® 52 G

tell Q ARMES 1S3

L
ol
=

nn
mjo
=
u
ol
inl
=2
|rn
§
o

>

2|7t =0laof & &t 7+x| s o

ol
St
iy
]
mjo
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)
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I
o
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B
Dave: Jenny, £& 20[0F? 211 AA?
Jenny: OFR A OtLY, T1'd 50| HE EX| 0t 117 THOL,

T 7 2 445 H20|TL, IX? E 0jHY 28
3o 8,

Dave:

Jenny: Z12§0F StCH= 74 YO, SEX[2 JZH HX|7t 40

Dave: SO0fs}, 2l L7} MMEM SR, 9 =22 5t 7
OF,

Jenny: JEX|2F 11 HMES0] 2| = L0 O REH #SE A
Of.

Dave: 8, Ll 27} 310F il 1 LIS CI2 StSE TEHE 7|



Jenny: ZOF UI7H £0F JHE2 MEEE UFole A =t &t
A f

Dave: Jenny, ZX[oH Ldk= 240, Lee MM O[0f Chall &

1 »® ought to: ~cHOF2F Bt
® must have v-ed: ~3Z20| SZQICH
2 Davee JennyZt 2% st
FEsrAc

» 27 MOH FAES LEE SAH LSO thatRols
"(should) + SAMHE,S £L0H

used to, had better,
would rather, need

13

EXERCISE

1 to speak 2 would rather 3 used to

1 U= g 3 Z6lof off, stLtE QF S8,

» neede= STE0M LHSAIZ M0 toRHAE FE0I2 F

St

2 Li= X2 F7|2 Bl X2t2] YES X0,

» would rather A than B: Bot=L| Xt2t2] ASHIC

take a nap JEES Act

3 0] 2 22 L9 ARAX XIF2 Le] ZI0ICt.

» MHIE LIEHE= SA Z0IM= wouldE ALEE & gLt

belong to ~ 2KQ0ICt, ~0i &3tCt

1 used to be a gas station next to that building

2 didn't use to[used not to] like carrots when he was
little

3 used to be very healthy before she had a car
accident

0 ZLH 9| H2l= ZALU, Xg2 &Lt

N g Foll Fra7t AU, Xz2 MEO| UL
2 Sam o2 W Y E0MH UL Xg2 g2e E0t
et

18 G-ZONE

3 XF AT Q] FO| Q4= O HYRXT Xg2 12X ¢
Ct.
1~3 » used to= 20l Et=E ASO|Lt X|&%E HEHE LIEH
O, ‘= JZX| Yrh= 58 ZEEHI. used to2 2&2

didn't use to E= used not toZ #L},

C

1 had better stop chatting 2 would rather watch

TV at home 3 had better reduce 4 would rather be a
freelancer 5 had better not upset the bulldog

6 would rather not babysit

, HAAIZHO] A9 O BRtY|. FEE T8kt WAR Th= A
ES
» 519|907} YO 22 had better
head for ~2 &ff 7tCt
2 ol HIZF 240 QU L= FSHEol ZH=L] FojlM 2efH|1 S
BZICH
» would rather A than B: Bot=L| xt2t2| ActCH
3 Ue S801E 30z Al £701. J24X| L™ mpate & Q04
» 5119 °|D|7f A08Z had better
otherwise J12{X| 242H / go broke IH-SICH
4 L= SIARHO| HL] D2RHATt =0 L= F0| g8 A1
O ™St
» would rather A than B: Bot=L| xt2t2| ActICH
freelancer b ZQ1, T2j2HA
5 1 2&3E 3t otX| &= 7 £0t UE Xl =2
Z£719| 07t YLD Z had better, had better?] 282
had better not
6 L= o] sE= Ys ¢ st
2101,
» MEHS LIEHHZE 2 would rather, would rather?] 282
would rather not
babysit 017 |5 S8t FCt

<

rr

A0| W0, L= AlZto] 22

D

1 O 2 to worry — worry == need not to — don't
need to 3 use — using 4 O

1 XN OX= =5 8 A 2ot g
» 3119 20|21 had better?t & ”ﬁ.é%
rob (2712) LEsiot, totC
2 Y 4x2 &5 EQLt, UF A4-e " gl
» ZSA need? 2E2 'need not + SAHE,

UHEEAL need?| 242 "don't need to-v,

g
E
o ok
rir
)
O
s
<2



3 LIS OIREE QIHUWES 0|8cth= Ol A=stX| 0t 152
7| oLt MZE5HT)
» be used to v-ing: ~ote Ol Y=atct
senior citizen Q!
4 TV 3= 420\ MHIAS Ih= H| O[SECt
» be used to-v: ~ot= OI%EIEf

commercial A%

had better pay your taxes

[0 on

f419

= AN=E HOoF & 0|0

fA2 TomOfIA| H2tal ZASHA=71?
U= 01 = S| Mz2 W
o= 9

M2 2208t 20[ojo|

(3]
10"'

7 =0t

H32 had better
late fee HIX|=

9 TTt Tom= 0| = SQUMK| MFS LHOF BTt 224X| &

=
—
US = UCk= 20| Lot

Lol £2 SAS BIACL UORIY TR HETN?

1 A R&E HEE LEHHE 2 ~5l2 THE ojofsh=

0l

used to
® would rather A than B: Bot=L| Xt2t2| ASHIC
2 »neede STFRO0IM URSAIZ M0|H SEHOZ toRHAS
Fot2 2 need haveE need to haveZ 1X0F 3iC,
Q 2E IR MAY MES 9| f= 0| HFZ[SHT]

s

'|4 ZIAe| ofo|'E Ha|

EXERCISE

A

1 must 2 should 2 might 4 can't 5 must 6 can
7 could 8 should 9 was able to

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A don't, needlhave], to B 1 @ used to ® would rather
need have — need to have QF

A
22|= 35419 oLt 1049 OtS 2 A7Ig gt AHS H1
UAEHLCL HRS0| F&fo| 0] LI0JojoF & o= QX2 11 L0[et
RS2t BRGIEE A

HI=oM HO{0F gfUCE 2= F°J%M§
71E AroloF ofal 7|7H0| MsS 71FE = U0 FLC

» '~& QT GCFE need not == don't need[have] toZ Lt

Ete

B

A= oASn Y ME27HS0] XA 20| 2 et MZE
Of AZ0f S0t Y2IUA|2 2240 Halt, 2F0 152 Heo
MNAYO2tE 0|RUC = JISAMES AK| 225 Zelot= A 2
GBI} Ol=fel 4F & W2 A2 W Ao| Qs Uitlsh| ¢
off ALHE 2 E= A5S SRY 2RVt AL Ol & JA4S0| ¥
ol et XY MFUFe| S-S SRt AL, oY O], =HE
3, s ¢ fE: =lhe AS 20ttt 0] 2SS Lo
7] flofl, AHS2 7ISAES o] Hol Y 2fAS E0lolof
SICh Li2tH A0 X @2 MAY AFs Hel HEEe=z A

Tina%t Jane FUL FAL ZOL J52 Ao SHQICH
> SHhlgt Dist 25 27 leB 2 ~lol| S-ISICHE Sot
= mustZt &H

m

FES GAS Hol= IR0 22l U=2LS 2H0F SiCf

» ~alioF Bitet=s S15 HEIWEE should
expiration 2=

U= SHolAl o Alglo| 20EXE 220

» ~UX|= RECFENE £58 LEIHEZ might

19| Yo = B J= 0j=20 27t Sl

>~ 27t glttete B8 LIEHHE 2 can't

==2
— Tom T=A

HJ

]

=

judging from ~22 HHBHAL
MAFSIQIE M HOHH CHeb IPYE OROf BiCt.
» ‘~5H0F BICFats O|=2 LIEHHZ 2 must

a master’s degree 4lAt&t?| / graduate CH&}
HEZS 30 OJLHOll 7E AP SHERIOH 4 &L f
» ~g o QEE 532 UEHHEZR can

get a refund stEgtct
JE EER HOR Y ZES2 SO0 e B 2 AT

» BAQ| HHA| 522 LEU= could

jaw &
U= ZRIE o0k 6l SEU0L.
» 217} 0|2t HR - F110|22 should
TI= BA] 7IAF HE20 ZAEA0 HAIZH| Z 4 ARAT

» IO EX M0 ARZ i 22 was|were] able to2

o
o
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202
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1 was able to 2 have to 3 had better 4 might
5 can't

1 LU= Deang EXIOMIK} Lot 4 QUL
P IAC EF AE0| HHZE & UN
able to
2 Lt= AIZ0| ZX| QOLA QFHS MOF BiCH,
» ~oliOF SiCt2h= RS UEHHS 2 have to

==
3 Uz JanelilAl 2 AAE LK = A 201, J4HE S22

BtS 740},
» ZUE MEX| 2 42 2M7H 42 & ot 520122
had better
4 Lh= Jacks 2 9 S0 EX| 2L = S0 LIUEXE 2
20

» DO THSH SRS FES LIEHY
abroad ali2l2
5 L= J3E F & Mol TAR0A EpCt T}
2]

= "might have v-ed,
A ol =

B85 £&58 UEHLE can't

C

1 might have seen 2 must have known
3 couldn't have thrown away
4 should have left a tip

» might have v-ed: ~¥#ESX|= Z2Ct

2oiC]

L,

» must have v-ed: ~&#50|
» couldn't have v-ed: ~3g 2|7} giCt
» should have v-ed: ~310{0F Tt

B WN -

D

must have been upset, she heard the rumor

» must have v-ed: ~&{20| EEQICt

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A @ must ® being able to © having to
Bl @ 2 2Lt Aojs ohZet EHOY, YX|0f ARZE AS
A+ AL QO

20 G-ZONE

A
SEHM, Lh= 6] 250] R2/0iA 13 2K 2| AUSE
H50|2F ARSI THOIUG B 7| SZQUTILL M2SHT, f2]
Al 259 HHIM= HE Fol A, OldsH dastet. 2Lt 1
S0l7lE REE B= E7182 26l OIRA: X2 HR 0] Zo
UAS = ACH= 01FO] U,
» @ FHO W22 = 0RO 20t Aot 52 LEHHE must
©® ~& = AC¥Eh= 50| =0{0F SI2 2 being able to
© ~ofoF2t StCfEk= 520] = 0{0F 522 having to
B
ATHOICHE HO| B2 RO0| B

Julian Cox, ABC Afo[iA 22t

49—J 260I -?—JJ(_DLOI

MZ2 g7= ALOIHMO| Mo R 22 22 Hol ROz dt

THOF SICHT AJARSICE 23 7t 18 7ES 2= 20 H 4

= 20[C} AOlE AT BEHO| 201 QU] o6 €ES AT &
H

71D|°| b”Oﬂ
Xl= O/Mist =
0| o7t (BHIQ)) BEHE & Fe A ZotEr)
1 » SoiAb~3lof SHCFO| 9
b U should
Q © HEE F7| Lok
@ H|HSE| 25l
© EEo/| @lof

ol wEol 4t ¥
=]
=

=

on

ol
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omn
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m 15
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un oo rir md
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REVIEW TEST 02

A 7 should 2 can't 2 would[Would] 4 Could[could]
B 7 must not use 2 have to have 2 used to be
must have paid
C 1 should not have gone to the party
Sue must be at the mall
| would rather eat out
you (should) exercise regularly
D® E® F(A) had better (B) could (C) to see
G 1 ® 2 we would like to give you an award

A

1 a = Q0| O Lt R2= GefS JHO{0F UL

» should have v-ed: (2719] oi| Ciall T2t RS LIEHY
0f) ~ZH0{oF 2Hct



= F0 2= X0| iR QoI
= g
o= —

SHEAL 9| thatHol=

. I 0| ZIH7) Lo A AR
2|7t 101,
» can't have v-ed: ~3S 2|7} QiCt
3 a OXS O R2= &H 7 A
» A0 BIEXO 2 H US LiEH= would
b. A: 25 MU0l A=ENR?
B: Hoil U= A =AU L.
» Would you like to-v?: ~6t= 71| 0liQ? / would rather:
~5h= HO| ot
4 a Hb g EUME B E71Q7
» can®LCt BESH 5715 2= could
b. Lt & FHoll 254 ZIXHA0] KIAIZH m&EE 2 I
Ct.

» 0| ~& 2 SRACHE could not

1 U= AE X0 S0 HEHE AFRsHA of EiC
» ~BHALE OF EiCkats 2X]0] °j0|S LIEHHE Z2 must not
2 U7 CHR) 242 Y 20| TSIt

» ~oHi0f StCtet= HR 925 LIEH= have to
3 JUHE thefu-0lnt s A0 7tk

|
» ~0[ACF2Rh= WOl XI&HQI HENS LEH= used to
4 UPH O Mg orF SIXIFL 20| B2 =2 XERE A0k
» ~O0|AS0| EZYCtet= A0 et et =52 UEHE

[y
42 "must have v-ed.,

(9]

» shouldn't have v-ed: ~5tX| ZUO{OF ZHCH

SR 52 LEHN= must

would rather A than B: Bst=L| Xt2t2| Aot

27 Mot S8 ojnjsts SAF F2l thatHoil= "(should) +

SAHEEE 20

W N -
v v v

@ UHe Zye Zeloh= 2l Z0F HIHO| D129,
® 0] Z2HEE= X|H Af=l0f B2 0|50] & Z0[H.
» B2 X|£X01 A= used toR LIEFHCE

= =
@ L= TomO| At7| d<=0ff CHalH A Afkaliof SHral &30
® 71=20] ZAP| BORCL 25 =0| SX|= ZEL
» Q7L % 58 20jsh= At FI2l thatHoll= "(should) + SAt
C.

rio
oo
Hr

mjo
rs

N

L G2 Xt S5 O AIKI0| Qs MRS It 2 2
O g2 HESS JIXID Y= 20l £8 X T 42H0| S0f
LtojA Hatoll 2HESSE 2 & UK S, Le 2AE &

| Tz K|

Z7C¥2t= 2|o|7t =0{0f 5t2 2 had better
= 2ol 213 could
C) SYR20AM needs YRISAIZ MO toBHAIS SHOZ

]

ID(= identification) /2% / business trip % / express

mail &

G

Atz0 H7F 742 SsH 20l thohM SU=M, 23 HIA Hg
Ol L7t St A0l CHoiA] 2|7t Hott AR SXIE Lot
AOH off, 2 Z0| Ho| He Hiol ¢ AR HESS 9lX]
s £ UAUALL 2= BE A0l Y7t FIFES ol o s
LOfof SHtLT MZHH, T2 2= e 84T WS 48 T
AL

St =8 LEHHZ 2 must have been

M

T » 29 o oist

2 » would like to-v: ~5
emergency 7l& 4%
clearheaded 4#&3t/

frightened Zofl =& /
ravery &7|

O_\
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o
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15 astelie e g

EXERCISE

1

is pronounced 2 was discovered 3 be taken

4 decided

1

1

0| TH0I7F 0| Y==K LaiEal?
» this word?7t SAt pronounce?| CHA0|2 2 $~FEf
M2 19302 Clyde Tombaugholl sl LUt
» 301 Pluto?t SAt discover?| CHAO|Z 2 4~SEY
Pluto gy
O 2Re =2 9ol o 2 Yeez 0|5E ZAo|Ct
» 301 The patient7} SAt take?| CH&0|22 ~SEY
JE2 149 8452 Folol| 2l EIS H7 (= FIULCL
» 01 They?t SAt decide?l SAXIO[D 2 SSEY
in honor of ~2 £515t04; ~2 7|45104

is played 2 were canceled 3 be explained

4 translate, is written 5 was sent, arrive

6 was made, (was) transported

0
1

22

0| E8|AE= Giorgio Armaniofl 2fsh CIXFIS|RACE,
&7 47l= 5O M2 0|20{T = Ho 2 TIMELL
» 0] Basketball0| SAl playQl 0|22 ~SEf
M BH2 OfF RE HIY LHO| FHAZAC,
» 201 All flights7t SAt cancelel 0|22 2SEY
AAF Ak O S|2J0IIA ApMls| HFE ZH0ICE
» 3201 The results of the survey?t SAt explainl CHA0]
o= +~ZH
in detail XtAIS], &MISHA
L= 0] O|MIUS siAe =7t Qi 1242 OFF 0|2 &5 Qlrt.
» 201 |7t SAt translatel SRIXI0|ZE SSH, 01 It
(= this email)ol writeQ| tHA0|22 SEH
translate HIsHCt
1 HX= - 3ed
» Z01 The letter’t &
AIEAIO|D 2 AEE}E MX
FEO| U= AR Kled2 M2

SN Mty 2
At send?| CHAf0|2 2

| e
()=

XIS Z40|C

—|EA

2N ZHANAM HS0{A, 0|

G-ZONE

+SH, arrives=

=OZ 2EEUCL
» 01 The Statue of Liberty7t SAt maket transport®

140I22 & Cf +5E2 20 beSAt & 77t and2 &
E0] 2B F Bl besAts 4ake 4 QlCt
the Statue of Liberty A2l 03414 / transport &
3tk

1 was happened — happened

2 no money was had by me — | had no money =& |
didn’t have any money

3 You are suited by blue. — Blue suits you.

Lt OEH AlL7H =R OlsE 4 it

» happen2 XISAIO|S2 $FENE MX| Qh=L,
Ltz S4E & Al AQUXEE 0] ALY,

» 7HRICFEtE 29| haves SSEIZ MX| oh=Ct
o2 AQIEE e A oIf? LiE DRk

» SUItE =SEIE MX| b=0

FMO| 0=

D

O1A| O™ X7t Jessicall 7t
i CHelis| Z

1 was conquered by Rome in 146 BC

2 is held every five years

3 is used as an effective marketing tool

4 was demolished by developers last month
5 be accepted until the end of this month

v

Z0{ Greece?t SAt conquer? 0|22 =FEZ M4,

321Xt Rome A0l byS 22ICt.

» 01 a presidential election0| EAl hold2l ChA&0|22 =
SEHIZ 20,
» 01 The Internet0] SAt usel| THAO|S 2 SR L0}
» =01 The old factory?t EAt demolishel 0|22 &
EIE 4700, #2AX} developers 0l byE £92ICk
demolish H7{5tct, fH=2|Ct
» 01 Applications for admission0| SAt acceptel CHAO]

B2 +SHZ 20

was, stolen, was, caught

P2 AU Q4E Bz ZEO| A
Z4ZH0| 12 QLT



— Jessica®l 71H50| EUSISIX[AE CHals] 1 EE2 ZE0| o)
B
» Jessica's bag7l SAt steal2l LA0|22 45
ZA} catch?] CHAO|EZ R 45

Efl, the thief7t

GRAMMAR IN READING
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A @ (were) used ® were exchanged B 1 © will refund
— will be refunded 2 will not be covered @ the one-
year guarantee

o (== o =
o7 Ba gze =

S Holols H2Me=Z HolldM 22
EAL HE2 FOIRL,. EZ0| AMEL o2 =
d

=7 AR At A
1p OREZ IR 2 RIS AMOJOfA

L7 AT Foll=, YHERl M=
SHEQiCt

oo

v

» ZH 289 F0{Ql Easter eggs, the eggse 242 Z& 21 &

Al use, exchange?l H&0|22 S>FEIZ 2LL beSAL F 717
andZ HZE 0] YCTZ @92 beSAts M2Fat 4= Lt
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HRIE N2 %HICH
Soll =gUct 14
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EXERCISE

A

1 been solved 2 been promoted 3 been cleaned
4 be forgotten 5 been painted 6 following
7 being scared

1 M7= OFE E2IX] LAUAT
» 01 The mystery7t SAt solve?| Ci0|2 2 4=ZEY
2 Tom:2 =20 ST,
» 0{ TomO| SAt promote?| 0|22 +SEY
3 M AQIETE(EM) MEEALR? — ZSEILCE WY 7 5
QOML.
» 01 my sweatert SAF clean?| CHA0|2 2 $~SEf
4 1 HiR= 19 WSO 5|1 AX| LUCH,
» 201 The actor’t SAt forget2 LHA0|22 4-ZH
5 0| & =0l oA = AL? 2t Hol=dl.
» 301 this room0| SA} paint?| 0|22 +-SHY
6 FIPHUE Z01R1 ANQ! 0G| SHOF GHE?
» 201 Someone0| SAt follow?| &IX0|2 2 SEEY
7 Daves S3ZI3IE ZOI3H. L= of 27t BRE L= XS
S71=R Olaifet 4 itk

» QI2APHC| 01 heZt At scare?| CH40|E 2 +~SE

1 O 2 has revised — has been revised
3 should build — should be built

1 0] L2JH0|El= +2| S A 0rd7tR?
20| this elevatorZt SAl repair2 40|22 4=ZEf
2 ZE M U2 of2f B SR,
» 01 The new design of the park7t SAt revise| CHA
0|22 4ZE|Z MO} 510, A230|22 has been v-ed,
revise HZAGICH £HolCt
3 FUS2 ATS0[ IS ZAIOf XOIKOF ST ALY,

» REAPL U= SEE= TREA + be v-ed,
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C

1 must be finished by tomorrow

2 be used to study social issues

3 be sung in the opening ceremony

4 is being built over the river

5 haven't been hired for three years

6 are being treated effectively and efficiently
7 had been borrowed several times

8 will have been solved by next Monday

1 0] E10M= LHAZER| 2k =[0{0F BHTY,
» ZEAPL UE SSEE TEZSAL + be v-ed,

2 AZ0| AEX BHESS shsoh= O AR E & UASLINT
» ZEAIL A= #%EHE TESAL+ be v-ed,

3 JHEAoIM =77t
» O[2HAIH|Q] ~SEl=

ﬂJ-I[[
Sl:
0]
N

will be v-ed.
national anthem =7}
4 Z RIZ D7t A= A
» SXHRIHHC| 2=SEl= Mis being v-ed,
5 A AMRO| 3@ SOt MK K| Q410 QUL
» SMfAR SZEHQ] £H2 Thave not been v-ed,
6 X3l SE2 §HN0|T §8MOZ X|FH QELCE
» HXNZIHS 2~SEl= Tare being v-ed,
effectively SHHO 2 / efficiently 58802
7 97|z o Xt CHOIKACE
» WA= +>SE= Thad been v-ed.
8 ZAMSHA| OH ChE 3 QUMK 2Z& EX17t shZE 7ok,

» D242 S~=EHE "will have been v-ed,

D

is being examined by the veterinarian

The 2ol TIES e oI,
> 7k ZIE B CHAOIDE BRP7H XY BO|D2 SIS HSE
=

Mis being v-ed.2 &L
examine ZIZGIC} / veterinarian(= vet) 4=2JA

GRAMMAR IN READING
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A cannotcan't], be, heard B 1 They shouldn't be
treated like that.
Qo

@ being damaged ® contribute

24  G-ZONE

A

Fnj2ie] LSO it M2 20| YISt Bl2ls = of
o Z7I2 ASAP 0 2 X9 A2 SISO L), 0] A2)
£ A LS WOpH Q1742 EX| RBITE SIRIE T2 27RISS Of
WS A2iE 21 0f31E &

=

» ‘Humans cannot hear the low sounds of elephants.@|

SH =8

2fotiofF & of
= Ml 8422 2ol X2 Fys UM o2t

kl

ron

L2 AfBl7} 22| ZHRHZOILE 0RO Ats IZISUA| B2 Uk
T Yl OfRiCh LA 2 B LSAPt ot HLE
WD QT MXI0f 15 B U 47t 83 R w1 0 152 1
a_

A TS WO of EICt 0f Mg

[

== Qo =H A=l S
=O| O[0RI7F Mot &= U B2 22| A A
71045t 2=el =SASE flet O B2 X0 ACOF St
1 » ZSM} QU #SHI= "E2SA + be v-ed;
2 »® =7} O|0R|= ‘EYEE Y022 ~SH

® =SAP} 7|0dokE FH0122 SSH

17 oot 25

EXERCISE

A

1 called off 2 whispering 3 to clean 4 turned off
5 looked after 6 call 7 be allowed to

1 3o= W &Atol s FAEUCE
» SAcall of)E +SHIZ & M= M A4 SALt be
v-ed,2 UX[T LHX| 222 JH2 &
2 7t MEE £40l= 40| KateOilZl S3Ct
» NZSA S5 Hol= +SEH0IA SIZALE to R EAL
3 Lh= GRS AS O XS AJARLL
» AI4SA makel SEA EO1‘.: +SEH0IIM to‘:"‘“\fi HHE
clean up HAsi, &
4 O] BHEl= JHMOF BTt
» SA(turn off)2 +=SEHIZ £ M= M 9 SAIR be



v-ed,2 U1 LIHA| 222 J0=2 &
5 MS0|S2 220 ofs SN AT
» SA(look after)7h MQ1 2ARS ~EEHZ W QO]
"have been v-ed,2 1IX|1 LIHA| 222 JH2
look after ~& YCHEECH
6 ANZHE2 %5 AE Big Apple0l2fil #2LC4
> AHRIE0| 78 AE BE= FH0IEZE SSH
call AB A= B2 B=2LC}
7 Ue WY AEE S0 M3V |E M= 20| SI=EX| S Ok

» ASAL let2 59| 9J0|2 be allowed to-v; HEIZ &

s o
>~
ro

1 He was not given a loan by the bank. / A loan was
not given to him by the bank.

2 This purse was bought for me by my grandmother.

3 The visitors were shown the artist's latest work by
the curator. / The artist’s latest work was shown to the
visitors by the curator.

4 | was sent four tickets for the concert by Jane. / Four
tickets for the concert were sent to me by Jane.

1 0282 J0A == & =X EUA
— JE= 2o 2RE HELUX L
— UWE2 SY22RH J0A F0XIX] ERAC

2 SHUMA LA O] XIS AtSSAILCEH
2ot LI Sfo Y=L
101% =0{Z 5t= ASER JHS5H, om 7t

?ll

3 FUOIEE BHAA 1 2tel ZiEs 2HFUC
— S22 FHOIE0I| ofo 21 =p7te| 2fMES EA EUL
— 11 3p71O] MR FHOE0f 2fsh BEZH0IA 2R,
4 Jane= L0IA Ul Fo SRS BRICL
Lt= JaneOi| Ofofi Ll &2 SUEE UL
— 4l Fe SﬁPJ} Jane0|| 2fsh LtoiIA| ELiRC

C

1 was considered a great teacher
2 was found guilty of fraud

3 was left speechless

4 were caught stealing the jewels

1-4 » 2xojet 252 2O} Y= 2FO| 58

2 be found guilty of ~Z2 SZ[TZ gt / fraud A|
3 speechless (S2tM) 28 & = Ql=

4 burglar =5, =4 / steal EX|Ct, ==Z5tCt

D

was found unlocked

Al 21 22 A X 2 HEl= AU
» S0t SHA HOPL U= 2RO +SHZ, SA findS +~SEH
ZHE = =X El= #8AL unlocked= M2 L1,

S| t
unlocked &7 UX| 22

GRAMMAR IN READING
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A are taken care of by their parents B 1 ©, @ 2 This
is considered eco-friendly for several reasons. @ @

A
RS 0 ZRRt AR B0 HAY
£ ML EX e R Mo
2 SAL MESE 7] ge 2AIX| §fn AISS REEE T
Az et
» take care ofS SHLIS| EtZAIR FZ5t0 S>SHZ PHEH be
taken care of7t =10 LKt Yoil= byS MA] LIEHACE

B
LR E= 554 WV IEed 22 |7 M7t SE1H, 5 UEsit
‘HHO|0HA Of4X[2t g
()Dvl[_l-_ A|— }":O O|72 H 7
W2, 2712 T4 7HsSICE fOIEUHQ IHEE A2 =00 2Jsh
JlOICHOl AH)+53EJE§ Ol r
7}, HIO|ROiA MKz HMZOIL, 2 %7| H7|£0] ZLEHE o
A0 HEXAL MES MR |EE2, MI|E Cte= o 2%
St A2 =2 TSI OIXRe =, HIO|QOA ofUXl= 344 A
=22 IHES0X|X] 0L, 0] MY E7ts Al BESH Es
B ST HIOIQA HUXE, R2l= XFE &8 & UL
1 » © F0{ Biomass materials= 44tE= HA0|22 S
(are produced)2 MOF StCt,
@ 01 A lot of organic waste7t HE{X|= Cj&0|22 2
SEi(s left)2 MOF StCE Ol beSAts 42| beSAtet
andZ SIZE D2 Ma2kst 4 QT

o
o
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2 > SHoR SXA =07t Q= 2 £SHIZ, SAF consider
£ S+EHZ2 U & SX2 2001 #8At eco-friendly= 1
OHE 2Lk
Q @ a3u
@ Act7t
)= g

1in 2to 3 about 4 of

1 Alex O/ZAM0]] 2H40] ULt
» be interested in: ~0i| £0|7} QICt
2 XFE st Aoist flde # =, JAe
YA QUL
» be known to: ~0fI7 YA QACH
satellite $14
3 Lb= 0] si7|of ESEA] &5t 04, L HZ0] AFE,
» be worried about: ~0i| tHall 25Tt
4 L= At Bt SN Mddol ZH20i| ZokA| LAt
» be scared of: ~&7} B S5}t

2loA 22

40

50

1 She is thought to be an expert in computer
programming.

2 The politician is believed to have taken bribes.

3 This winter is expected to be warmer than usual.

0 = OFF TG AFZORIIS BT,
1 4= AREH Z2 720 AN H27t2 6AZIC.
expert T&27}
2 O EXIPLHEE U
take a bribe HE& 9T}, »2/5HC
3 0 22 oER MY AeZ oldEnt.
1~3 » Tt is said that ~2t RAEH FE20IA thatEe] =017t 2%
9] FO|2 LI2H thatZH9| SAt= toRHALR HHHICL

Uchs o

rr
il

26  G-ZIONE

2 > thatEo ARI(@A)7F 2HO| AHIRLE YMEZ toRHAIS

22821 "to have v-ed,2 £2LCF,

C

1 0] B2 &7 Helct
0| o [ |. Xt X||_'_|»
3 Tony, Ul Df2l= X2 TRt UL,

1-2 » clean, washe HEH= SSHOIXE 59| 907t Q= &
ANE
3 »need v-ing: ~(EE) LRIt UCt

D

1 Most babies are scared of loud noises.

2 The organization will be composed of retired military
officers.

3 During the holiday season, the mall will be crowded
with shoppers.

1 OREorEe 458 RAEI
» be scared of: ~& Saig/5t
2 0 =X 2Ep ST YusE
» be composed of: ~& 714
3 RUNNE S WS

» be crowded with: ~2 2H|CHZZ}6}C]

E
reported, oil prices fell sharply, October

R7H7IEH7H
» ‘People report that oil prices fell sharply in October.2h=
29 thatH8 F0{2 510 +SHZ 2= ZHO|C}. thatHo| Z
oM FZ Hu 7H01 itS 7 Af2(0f] L0t
sharply 245

020 52| oA 2E=EAUCE

GRAMMAR IN READING
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A ®with®to B is, believed, to 2 ® with ® for

Qo
A



of sfAQl ARR2 J|I0E JHS At QUCE M St MER S &, M2
= 7|82l A0|ct, SF8ES0| 0|F o&dte A 20 M= #ESH
= 74 0| Z0|Ct
S, wH0| B EV|X MEA LARICEL 3L 2 2

» be filled Wlth ~2 75 MM ULt/ get accustomed to

~0f| =551 K|C
B
EaRre &0 A=z HS HAS2L2M 02IZ0] AMO| HS GlHY
& QUA SiELICE o AFQ QM2 &0 MAX AT AT
&2 ot Aol 7, s, 2|1 40t 20| tet YEE 20F
710 MO X2 HAZ 4 JAFULE 220 AUs M52 UHH
21 Artlit B AS, & M g48 EdUi=t, 0l 62z

» ‘It is believed that a person’s life is ~'2t= 2X0i|A
that®2| F0i(a person's life)7t +=SE& 22| F0{7t & A
OF thatH9| SA} to R AL HIHILC,

2 » be satisfied with: ~0f 2t&5ICt / be known for: ~2 2

ot

Q O gl 22 &0 A=W

@ YT AL 28R

@ o E5L717t qretelvt

S

REVIEW TEST 03

Al of 2had with 5 with
been recorded 7 being prepared & be caused

be set up have
B 1 We were not allowed to feed the animals at the
z00.
Organic food is said to taste better.
| was persuaded to run for president.
This application must be sent immediately.
Coffee is reported to be good for people on diets.
A new position abroad has been offered to me.
C 1 @is located ® is cleaned up 2 @ had been
changed ® worked @ had expected ® was
canceled 4 @ wasn't allowed ® was given
D®
E | stand — to stand 2 be taken care — be taken care
of 30
to George

were belonged — belonged & George —

F (A) be explained (B) have been created
(C) be dismissed

G 1 © 2 The tattoos are known as moko.

A

1

T RZPe ZEn 232|ER IS0
» be made of: ~22 TIESNXCHYZ - XHZE AlE 7HS)
steel Z& / concrete 232|E
HE ARO0| I SH0IM S22 AlZts BHICE
b TIX|CFO| EO 2 MOl haves £SEIE MX| IS
T SMES It 7IZ0] M E ZO|Ct,
» F0{Q1 A fundZt SAHE set upl CHAO|Z2 ~SEHR! will
be set upO0| =|0{0F Bt
set up ZiEfSICY, M8
el Alfiste 4 9 Mo ARIERE S
» be crowded with: ~22 2HI|Ct
demonstrator A9l 25Xt
BrE Q5 OFEK| =2 FHHUMUCL
» be covered with: ~22 Ho|C}
QoL @2 CD7t 1 Hiolg2|LAEO| Q5 =SEASLINN?
» The violinist has recorded (how many) CDs2| 4=SEj
047] S0IRAH oF ELICH 0] Z7H2 Aelg fla =] E¢!
O||_||:|-
» This roomE F0|2 stz +=5H 2%
TEALS HIPHO|L Lot TE0] OF7|E 5= QUCH
» 2012l High blood pressure?} ‘0F7|=l=" 0|22 &
Eli(be caused)?} =/0{0F BHLCt,
overweight ZHHIZE2], |2t

oM SHC.

=X
=
T Q0| =X &

S0 HoIE
= =
= = A

S=
9 SES0IAH HHo|

AEEE wc-’r7|% AZE oo l'—‘I 51’—} UL,
» that®9| Z0{(organic food)E =
U=L, Ol thatEe| SAE to-v
J4e 30| E0t6t=S LHE ’é%
— Lt= 310 S0f5t=s 4S50
» ZH0{(me)S FOIZ 6l1l, SAIE be v-ed,E 1F 5 =5
2 H0{Ql to run Olot= JIMHZ 204
run in the election 4740{ &0fotCt
He O] MIEME SA| EL{OF BIT.
— O] AEME= JA| HLIMOF Bt

» ZEA + be v-ed

ro

2

o
o
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202
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application tIEA1 / immediately ZA|
5 77t LIO|0E S AFRISIA Eths 227t QUL
» "It is reported that ~; 1E0lIA] thatE2] F0{(coffee)7t
2O F0I2 L8 thatHo] SAt= toRFALZ HHILE
6 1 3A= WA SHRI0IM A RIS HIQIZC
— SHRAOA A ZRA7F LHA| K| RACE,
» HESHUE FO=Z 2 +SHZ ZESH0(me) ol XA

toE E0l= X0| L0,

1 HSIADE HD0| M2 AZAS ANRCH I 0] HE bt
2 gremo| QU HalS Ol & Jfefdt Zio|ct

2 OfR| Violet2 HS0| 257} HOt SA{0| 2JsH HHHO| Hizks bt
210 T1l40) ARAR S0Z 4 QIICL T 03 HSE A
o BXIPE 1 0fL 21 of5|x| YtCh

» ® works AHSAIR MAUODO 2 ~FE| 27}
(

work (7174 - Fx| §0]) HS=C7 |55t
3 BE TFS2 Nickat Carolo] 6ol 228 Z10[2t Ol 3L
Jl2jL 250] of2f H AThEohs A0 SASL LA 259 2

22 FAEQIC}H

om
on
il

get married ZE35tCt / argue Lt

4 Us I FY90M FIPt S8R hets AS g1 AU

XI2E S48 71X12] 710 GiA RIS MY FRICE BA 2 =2
QHO|UAS HOIX|ZF T2 = A} 8 HX|S B QAT

©® ZFEHEH0R meZt +SEH 2H0IA F0{()2 401 HEjY

parking ticket =4t £Igh =X

0|.|-| oll

v

D

@ O] A2 g8 22 o-RLL

» consiste ASAIR SEZ MX| 42

@ Z AIZI0) 2T A 20| O SEVIHER 0= M2 UHESQACE

» the climbers= SAL find2| tH&0|22 4=SEQ! were found

7} E|0{0F &

@ OtOFER2 QI7H0l| ofal mt|SHCt,

» OIOFESRER IfY| Fot= Y022 =5
ruined” =/0{0F &

@ EfLO| X7+ =g =00 SHi TORICE

® Lt= U7t 20l 2] 2l=6iA 0jS 7[80,

» be pleased with: ~2 7|u{SHCt

Efi2l have been

1 JojISe 3 E2 NEZ 2Ry

28 G-ZONE

2 1 ZOXjs2 W ZREo sl S2HE X0tk
» SATHE SSHIZ £ 0 M 2l A e v-ed,E T

=
LA £22 0=z &

mother-in-law A|0{THL|; &2
3 ME2 M2 MM SEES Y= HA AF Xk B2

341 / laboratory animal &84 52
4 1 010|52 HHUES MIX2(0f T sC2k= WS SUCL
> belong% XF%AE SEEZ MX| U
&2 GeorgeO Al s=0{=IRALH.

> awardE APSH0 HHEHUE FOR ot +3H 2
g2 Us + A, HYSHOE FOZ 2 F* HESHO
A0 toS Lt
against all expectations (2E) 04t= 2|

F
el Hef2E HYE + Gle SIS0 st OPIE A5 =
S0 TXILE AAMOIESO| 0[242t Ot AFASO thet HE S7
17| 2l RESOIRICE 012 B2 MZIS0| AIR2 U2 = XREX]
ZEXP, USRS OFF RS0 tiet 2¥E HAI ROk ULt
» (A), (C) Z8APL Qs +SEI0IZZ 'E2EAL + be v-ed.Z &

i

B) AR SHAXH7 D JE01E2 iz +SH2

A
U >
o Jp

"have been v-ed,Z

phenomenon (pl. phenomena) 34 / dismiss H2Ct, 2t
©5| XMe2lsf Hi2ICH / practical joke HE2 HH / have yet
to-v OF| ~5IX| QLT

OiRZ|EE FAEHE AFRI0CE 110, 252 HE Mo £2=
3] 0] ¥= OARIZ DM} LpMo =z -EEQICE 2=

Ols BHEGHM O LRI QIEE 1 HAIS BASOZM YPXHO
ot £2 ‘moko2M 24X Tt =20l mokoZt
DIFZ 0|2t SR At3N BIAXIE 7t

» SX{0{(the markings)E 2% FOIZ 511, SAIE
2 HiE £ SXZH0(permanent)E 1Mz & 2H0|22
made= were made”} E|0{0F &
2 » be known as: ~2A1 YK QUACt
native ¥IF019| EE'0|9| / charcoal £, 2&t / battle
HE, u¥ / permanent ET7EQ! / tattoo ZLIGHE 2
41/ refer to A as B AS B2t B2C} / rebel 2HXt



19 HAIZE 20|= toFAHAL |

EXERCISE

1 toread 2 To find 2 to hold 4 to see

0 = SHRE MHEMHS 22718 7 3YCt
break the ice MHAMHSH 22(7|S Tt
T Ltol Afal CHE2 Lo S $F AHM el= Z0|Ch

» to read 0|5tz 201 &
resolution CH, &
2 0| 200l 2 U= FT7HE Fe= A2 MR ofEnh
» To find ~ in this areats 30| S&
3 Dean2 S7t0IC} 19 Agl2 =
Z{0|ct.
» to hold 0[5t= 20 gt
=3|[ZME]S 2t

2 ZAM EMEE t=

hold a concert %
4 Penny= OHALOI SEZ017] fs =25te, 157} 137 St
Ag BEH AFHES 0|4 NEeLL

o=

A
» to see her doing so= F #m Ho| F0{
positive IAX KO LIt O|

OO 1Ly 111

1 was to wait and see 2 is customary to offer
3 is to translate Korean novels into English 4 is
convenient to use 5 main concern is to improve

1 UW7HE & Qe MEE JICRIEA X7{=E 20|
» to wait and see= F2 =20
2 2HAH SEU UXIE Hols A2 YUHEQl Z50Ict

» [t2 74304, to offer 0l5H= TIF0{
customary &0l
3 Daniel9 2 st= AHES H0i= HA5t= Z0ICE
» to translate 0|3tz =2 20
4 OofH Fapt 4F SIX| 27| flal QSIS 01&5th= 0| Ha
SiCt,
» [t2 k504, to use 0[dt= ZIF0]
5 i =E &AL

= 713
» to improve 0[5t= 2 20f

C
1 That— It 2O 3 not read — not to read

1 7L 87010IM 017 [=X] XA E 242 MOIQLE Z0|Ct
» toRZAITRE ThAlSH= 71301 It
2 Aol Hoil F auEvt st A2 O 5| SRSk 0|
» =040l "What ~ doy, "All ~ do, A& do7t US M= 0=
MOI toRHAMOIM toE W 7ts
3 0| Mo AYUS ¢X YX| 7|7t HR ESUCL
» toRHALS] HHE to HIZ A0 notg 2 (It was very

hard not reading ~C2= & 4= QOL} IiQ E)

D

1 Itis difficult to park in a big city.

2 It is not a good idea to study all night.

3 It was really good to get away from work and (to) relax.
4 It is not necessary to book a room during the
off-season.

» [t2 71504, to park 0[517F TI=01
2 » It2 74501, to study 0I5H7t ZIZF0
study all night 2% &5t
3 > [t2 7kR04, to get away 0|o}7f HZF0
4 » It2 71301, to book 0[5t7t ZIZ=0]
book Ofofstct / off—season Hl=7|

is to become a veterinarian

Audrey= SE8 AMSBITEL W= AP} &1 40 St T2
2 19| 2 Fo|tt,
— AudreyQ| B2 £=2JA7} == 0L,

» to become 0[at= T4 E0{Z M

GRAMMAR IN READING
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A don't to train — not[never] to train B 1 It is easy to

getstarted. 2@ QO



RS0HX| 2= 40| SQ6H|, L2E 1 XA 2 B4 REe AU
ju .
» 2 It is essential ~ OlA] 1tO] 71301, to2 ™AL RIFUHZ M
o]

=X0ICt to R ™AL EEAHS to 20l notO|Lt nevers =9I

B
FA0] O S=7EO HE 2 A= Yo| USUM? Guinness
World Recordse IHE S4|ats
SLICHL & ) HA= glo] o &
2|0 L= AYLCEL 22| HAIEN U= Lrls
1 J7g O|HYZE HLHFAMIR. Trel gilo] 7|1= 7|58 7Y

+C|

NEfoHE 22

S
o

Bt

Ral

mn o

ox [Ir
_O'E

A

w
rio

rol
2
0
o
rir
o
rz
10
>
H
M
0
o
10 ne
N
Pal
el
ot
oo
i}
1
[n
Il
o

LICE 22l FEst g
SHE MES 2
OT0f| A=E|X] 42 $°17fa 3H'—H7IE HSICHH, G2 M| A
£ HRAR Q™E 2 AUBLCL
1 »Mltis + FEAH+ to-vy FERE, [t2
started?t X130
2 » @ to tell OlotE =4 20
® to break an ex

0] 71= IAEFE As Y

r
B 0o

N <

71304, to get

isting record= SAHwant)2| S0

O HAFZ ™ 20| = toREAL I

EXERCISE

A

1 where to park 2 who(m) to invite 3 when to get off
4 what to say
0 7{710{ O{€| 7tOF &X| OFHLITI?
» how to-v: O{EH ~aHof StX|

1 H XHE ofCjof] FXtchoF &X| SFotHIL.
» where to-v: O{CIA| ~cHOf &X|
2 SAE HEA0l ROHER| AESHILR?
» who(m) to-v: =& ~ali0F EX| (whom tHAl whoS 7|

=8
3 Xe Ao 2L AR W2{oF EX] e A
» when to-v: ¢1H| ~oljof &K

|7-|I*|_|7]|.

30 G-ZONE

? AEMIHEL. Lis & 2 ofiof A

» what to-v: A ~alj0F &X|

1 working — to work 2 found easy — found it easy
3 become — to become 4 O

JdS2 siZME 37| 2ol &H A5

=

= A0 SotAt.

» agree= toRYAS FEUZ Flot= SAt
2 g=RQeEM JUE ARUE iRV it RS YA EHUCE
P ISAL + it + FEAL + to-vs FEI| T2
3 UE 7t et=9f HESHO| =221l ol e &0l AL?
» expect A to-vi A7t ~& AS Ottt
4 Taraz @AM HTHOICH OIS LHOF SX| A LT
» "2 AHhow much) + to-v, 72
C

1

1 consider it wrong to smoke
2 where to hand in our applications
3 thought it impossible to make a living

P ISAF + it + FEAL + to-vy

Hejel 22

2 » where to-v: O{C|2 ~5H0F &X]
application XA

3 »TSA+ it + SBAL + to-vy HEHQ T2
make a living MAIE F2ict

D

0

1 advises me to wear black dresses
2 forced me to pull over
3 encouraged him to audition for the choir

Daniel2 LAl Y#Ct NS Mi== of.”
— Daniel2 LI211 OFd

fasten OHCHAHCH
L ElTt= Kb LA 2ot 2
— U 7= A LA 2 EAE ot RISH
QEEO| LA 3L MigjoF guct”
— QERO0| LIO|A Rt M 3L

A

LS Dt 2O

to}, "H A EA

‘NS X2

o=

pull over At MLt

Jd= &2 %AEIE THM L oA 2R HE gEH 2
PS

rI



L= J0i|7| SHEICH QUIMS B2l AT
audition for ~2 9l RCIMS 2L}/ choir EH&HLH

1~3 » "SAHadvise/force/encourage) + S0 + to-v,Q #&

Craig, offered, to, carry

Craig: U7t A S0EMN

Jessica: 110!

— Craige &AS SOHFZCH HMQRAY Jessicas IS 1O
ct.

» toR A (to carry the boxes)7t
(o]

SAHoffered)2| 2X0{2 M

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A ® it ® tosearch B 1 @ told one group of students
to discuss ® made it possible for them to do
ChE AR X0l SIS aloF A| QU0jH2IX| OF2t

Q intellectual, performance

A

Micropro File Finder= 0{2122] ZRE0IM TiUS HMSI= A
S &7 of EZuUC oefet SHS2 o320| THUFoIL EN, &

et FHE2
FO| mat ZAE Ul S RO, R2l= JHsE B 1Y WE At
£ EEELCL 07] MicroprodiM, 2= Z4I0] XHQ| HFEO
CHsh 715 BHEUCH
» @ "SAL+ it + HEA} + to-v, FEHY FE0ICE

® "SAF+ SHO| + to-v, HEHS FRO|CE

B
O XY IS =011 HUL? 22 oM E0|22 217t
LREULEL A7ES2 o 289 SSA ARl FHIE =9
of2til Y, HE IF0HA= M 42 XN 2Bis M=ot &
Hem, Ml HE IF0E MoIRUE TV Z2IHs Bafil 28is
LIk 102 20l SFES2 M 28 2507 259 Al £=2t 7]
AH#E FHol| 22 UKIC’*% UAsHLL SIS, X BN 252
EE2 OS0| A™M MEXR XA 28s e I5U3 &
ote A2 7HsoM °”*L|Ef B2 Ohg A Hols FUs o
Of ot=A| WX| OMML. BiZ TIF St O|0P|E Y2z2M HE ZH|

AZ|E Zi0]%!
1 » @ "SAltell) + SH0{ + to-v, TL20ICL.

© "SA+ it + HEAL + to-vi HE{O| F-20ICE to 0i| for
+ 547,09 HHZ toRHALR| SRIXIS St
2 » what to-v: S ~al{0f &X|

Q Al #ols XA HUHE eddhs SHLel SubxQl Wo|C,

BEAHEY 20l toR WA

2]

EXERCISE

A

1 to look up to 2 to livein 3 to depend on 4 to deal
with

0 & o717t U™ AXEX| Matot2t.
feel free to-v OFSCHZ ~atCt
DE A2 248 oSt 9SS &

2 U7t New YorkoOll ZIEe AT SUC|. o OMIEE 7KL

depend on 2JX[stct
4 07 MH|A 2Mofl= X2[6H0F 2 =2 AFR0] BTt
deal with (2HIE) *2/5tCt
1~4 » BAE A5HE HBMH 89 toR

— oo

AL2, O HXIAL
S WHESX] Q=S FOIBIT,

= T

1 many, bills, to, pay

2 anyone, to, work, with
3 was, to, become

4is, to, appear

1 »billsE to pay7t FOIA =AY,
bill ALEM, H72A
2 »anyoneg to work with7t FlOlA] S=AIBICE FXIALS e
2R LS FOloi,
3 » %S UEHHE "be to-v
4 » %% 018S LIEHE Tbe to-v

charge &2, 7|&

31
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C

1 are to be a singer

2 is to come back by 9 o'clock

3 were to make their fortune in the city

4 are not to tell them anything about our plan

5 are to meet in the lobby of the hotel tomorrow
morning

1 HIZ7F 7ke7t =0 SHHH, B ]
» SH- X712 LEHHE Tbe to-v
2 Lindae QAI7EK|= SOtetof Bt
» HY-OIRE LIEHHE "be to-v
JE2 TAUA Mitg B 2F0IACL
» 2HS LIEH= "be to-vi
destine (RECZ) MahX|ct, 2Y HlCH
4 0|7 H|Zolok HiE JS0A 22/9 A=)l thet o e Y
iAot =t
» HY-OIRE LIEHHE "be to-v
5 2el= Y oFE SEe| 2H|0A B Z0|Ct,

» 0 &S LIEHHE "be to-v

fjo

2OoLoF & HOF.

D

Why Iceland Is a Great Place to Visit

OfO|==H=7t off WEap[of 2 et

OO =0lE Wotet 2 ZME0E B2 40| AU G2 0f
SCH2 Blue LagoonOilA 23 4= QITh= AMME 21 AUALR?
1 =2 GOf DRt ot Z0MXESE THE AU

» to visit0] 22| HAHL a great placeE =413
glacier 93t / bathe S235iCt
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A was to give way to B 1 ® children to take care —
children to take care of 2 If, are, to, get QT

A

19MI7]01 2tafar AJ0] TS0 T2t QIF7t 2EHE0) 0|2 He
Ol H=0f ACHD ARICE B719 M7= ARret H712] H7io Z
= o & 2014, I = 2F HUPeo| D= AN S92 20|
Pl

» 282 LEHE "be to-v,

32 G-ZONE

B

Aot 7+ 286l

TOIM Of2AS 719= U E72 LOIE. SHAITZE 7H2] Q10| It
= A2 2 HMYU0PY|= UL 55| SE0F & 010|SE AL 20
L. E2 Q0| Z=H U2 49| #S0| YHol=s =3 AlA
OF BfUC}. ek, 2tef G4I0] OfAAS 71221 SHTHH, FH[oHO0F
Ut 212 2td o2t &2 0 EML. Ofds &8st

1 » SAHE toRBYAZE £ ER0= TXIALS 2| X] o2
o|sjoF B}

2 »beto-v: ~6fa15 @n.-x7)
x

Q
i
Ju

D) A L0l oA |

EXERCISE

A

1 To be frank 2 not to speak of 3 To make matters
worse

be capable of ~& £ QICt / mission 2%
2 L s 22 9E Ax gl SAUME FSH0| X LRUACE
taste SF *F¥
3 MZSH7IE0| ASED UCE ATHEC R, T L2t YR XY
ol

A2} SR ML

drought 7}& / shortage £&

10 2be—tobe 3soastonot—soasnotto 40

1 Li= QIEHIAOF QIFLE A0t 7| RlaH QIELIO] FH3KCE
» B8 556t Tso that ~ can[could], &
population @I, 21 4
2 2| L= MAIA 7HE LI0I7F e o440 AT
» A0S LEHE toRHA
3 Us Qe RS EXIX| 27| {6 S ¥ FHULL



» so as to2| F&E2 so as not to
4 7t ZE o230 2ol E=0H He 17t tiEs| 216 |
7|CHaHEl 4= 7HOF
» RS LEHHE toR T (toR ™AL ifRS THE 07)

i

C

1 to prepare for 2 grew up to become 3 never to
wake up

L

1 »2x
2 » 3t (= grew up and became)
3 » Z1} (never= nott OFETIXIZ to Y0l X))

1
1

» 4

D

1 in order to make a reservation
2 in order not to forget her birthday
3 in order to run his business efficiently

0 FEE 9| 9 2E 2L H4s
securely T3], 2435] / theft
1 Tom2 012f5t7| et A0 MU
2 QGarye Jan2 4ds oH2IX| 47| floi O] 0|5 S 2
off HACE
3 U 2=
C.

70k BT,

MNEE 2EHe=2 2ol| flofl ARHE o2 O &

was bought quickly so as not to delay

Ql. 42 £ A= ZHl= RA0I | Al XSE SAt
RA=7H?

Q2. Jzig 97| QI 201 | A2. 1 B2 w2 0Y=AUCE
SN R=71?

— 1 82Xz SAE NSAZIX] 27| Ploh = O U=UCL
%

LIEHHE so as (not) to 72
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AT B @ To be honest ® not to mention
only to find that it was actually quite good Q@ ®

>
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oy
i
ro
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7] ?lohM SOt HF B2 L7t HIo]
.0 20 o SAS2 OIH A S0I1E
XIS Atgettt. 0I5 Mok A2 o
ZaAZIC,

4 M H7| 2foh S0IE M-S,

I
min

Ral
o >
I

In

fr k- rlo

i 30

Jio rr o

= 5y

mE ﬂ.“o

IH oo
I
ro
inl

e
r=
=

=
o
>
00
mn
rr
o o
=
I
4
Hllﬂl

Lt

l
Pl
Pl
Tob
>
mn
40
i

[l

N
HI
O
ro

il
o

bal
ol
~
o
=2
s
ro

>
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7|HE ot AUNL. K= Fstof bt
I LOFLt L2 LA QIX|0) CHol = 2
27| otz 2301 O1EA A CIXtolL47}F Fol=
f“xloﬂ ol A5t HANL. JZXLE 1
i, 2730] A2 Mg HHCh= 2s LA =AY
1§82 e A= g, 3&’%51.‘1' Jlef=at 50
FHEISO0| AUANL. A7t OFX| Hi=2
LARPZIE AL, T2iM X2 oA = E?ﬁ , M= ol AY
SE0|A FHELC
1 » @ to be honest: €%
® not to mentioni ~2 2 Az 80|

2 »only to find Olgt= Zxt
Q @ s53x¢el

@ HIEZQI

@ XlXlot=

m o
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mo oF om
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2 3 SAAE 20]= toFEA 1

EXERCISE

A

1 glad to hear 2 to eat 3 to get 4 is determined to be

1 27} HoIN SI=ED Uk %
» U LIEIIE BAF S0 2 toRBAE 2MO| 20I8

LHEFEHTY
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2 Zoe?t U= s UF MM WIFHS 4 AAUCL
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AL FO = toRBAE &

_r

Aol Ciet o2 LiERE o
& BJTO| 212 LIEfHCE
19| 2RYS FIBH O

oFETC,

» be determined to-v: ~6l7|2 2 OFS9Ct

o HXZ, J= 77 =712 2A

1 were too expensive for the military to buy

2 is likely to win the Korean Series

3 is dangerous to touch

4 It was rude of you to laugh

C

1
2
3
4

1

34

CD
E
=
iny
1o
=
£
0

T OjAIEEE 207t ME
» too + FEA} + to-
25l et= A
» be likely to-v: ~&F 24 &
E2tojot0|A= AL FHT(A
» toR A= EHI 0332
bare %*715'18 il
Hl &7t A o RCHL| L= SO
» toRYA= A0l Ciet HIHS LEH= HEAF FOIA 2Tt
O[L} B ZAHE LIEHHCY,

op| g2

Slsfatcy,
LIEFLIE BSAF S0 AQ1ct

— oo

aHEE
TAM=E

0

energetic enough to run a marathon
are certain to approve this plan
difficult to deal with this customer
sick to make it to work

Jenny= OREtES 258 4 s 2 V1M

» 'so + #EBA + that ~ can.,2 "&#8At + enough to-v.2

o3| QIUSS 1 HES ST 20| sl

J
1l

» Tt is certain that ~2 "be certain to-v,2 BHH £ %= Lt

council 23
0| 242 Atsly| miChEL)
» difficult to-v, 22 2X2| F0{(This customer)& to?
A SHOZ HHYA Mt ~ to-vy TRORE & 4= UL
TimE O 45 Ot SJALO] Z 2= QIRACE
» 'so + HEAt + that ~ can't[couldn'tl.=
to-v,2 HHY £ 4 QUCh

"too + FEAL +

G-ZONE

D

1 This box is big enough to put

2 She was happy to meet the actor
3 He is sure to come

4 They are ready to present

1 » 88At+ enough to-v: ~& 012 5&35| -&t

2 » YHEES U= #8AL F0l 2= toRHAl: 29 |ele
L}EFLHCE
3 » be sure to-v: &H45| ~5iCt
4 » be ready to-v: ~& FH|7t &0 UC
E
1 is too young to drive 2 is old enough to
New York ()0l GA2 (0] LIOJoll) 0]%¢& & == U,
14 | ozujolEsict | 16 | et | 18 | SmEsit
1 Marks 1440Ict. — Marks 2%6H7(f 42 02|,
» too + HSAEAL + to-v: HF ~oliA] & & Gl=, 5P|

of Y= ~3t

2 Darren2 18&0|Ct. — Darren2 £Eg ¢E £&245| L0|7}

SUC

» HEAHRAH + enough to-v: ~&t 212 £E£5| --5H[5A]
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A1 ® was, to, sleep ® disappointed, to, receive
B | @ to donate ® to give 2 Y4I2| 77t &
2 027U UE 57U UR JHEX=E 22X Qe
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uncomfortable to-v; TR 2X9| F0{(the bed)E to&

HALSl 2X0{2 HHYAM Mt is uncomfortable to-v; TR 2
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b0 2 279l #RIS toRYAZ LIE



v =
CIRl 7HE0| M2
D O JHS0| AEE 5 ALR?
S ot = TMI0IA 8M| AtOIO0F 5ta1, 25Z=340]
EHO{0F ULt A MEHZ Cl27E| ©of, ZAe Tt s
Si700l HS of2|ALE HS S7LE (MIEO]) UR HX|= o

ro
g

ot

o sQIe?
o] B2

122 S

OI'

|
=

X0
230
TE

POP_OW

Q: JHS2 B 0 O1ES LAILR?
A OILIS. $olASE

ZHoilA| DHRAIE S RILICE
1 »@ "t~ to-vs TECZ to™AHto donate)o| SojY =
£ for dogs
® PEAL + enough to-v: ~& CIZ
2 »too + HEAL+ to-v: o0 HR ~Bh LS ~GiA -

| -t

Ol

=
—

Of

24 HZAto| ojo| Ak 301 - AlA|

EXERCISE

A

1 Our company 2 him 3 her 4 her son

1 92| SlAl= XA 5 siLE
> 2XO| F0{Q} UX|
2 7t SUFSRPE EXIE Yl le HXI LU
» to R ALY #RAXZE 2O 012t HatM for + 58,2
2 93
3 JU7L010|E SR X LK & 2 FAUCE
» A0 Ciet B7HS LEH= J8AF Fl0IA toR AR 20|
A F0l Tof + BHZ,0=2 4El
irresponsible F&Q|5t
4 EZ of, J4= oS0 JHE H X2t SESIT,
» FEAL+ EX01 + to-vy TE0IM FX0(her son)7t toR A
of ojojy 201

M4tk | = FotAC.

keep an eye on ~ ~& & X|FEL}, ZAlsIC

1 for her Afx|

2 | — It, me to clean — for me to clean
3 to solve — to have solved

40

1 J4E gX| Mets 26|z 23Ut
» 2XO| =017t toR AL 2JOj4 019t YRIGIEZE for her
A=t
2 W7t 2 BAshs O AlZ0| 22 2R
» It takes + AlZt + to-v, T-20I|0 20)4 =0{5 Bf5l= 42
toR ™AL A0l| Tfor + EHH,C2 &
(= It took me a long time to clean ~.)
3 Mary= 1 2HE ¢ & Hoj| siZsh 2K =it
> ESALECH 010 Lojt 0|22 ARBHAIS &
4 U7 OFE 6AI0f LojLt=E A2 =7HSOl.
» toREALS] HRIXTL 2EO| 012t DM for + EXA,Q

b=
2 82

C

1 to have worked together in the past
2 to complete the project soon

3 to have invented the machine

4 to repaint the wall

S W7ol B YR XY Helct,
Same W7t 1 Z2HES =
1 "XE 7S gEet A
4 02| M= HS THA| HIJAEHGIUC fL3I),

1,3 » ESAIEL O1T0f ojt A0|D=Z 2 RHAL
2, 4 » 9XLt AZO| =5 K| SAHexpect, promise) FOIA 2

= 5
SA 0120] US LIEHHE EHEEEA}

W N -

D

1 careless of you to go there 2 too scary for them to
watch 3 ordered him to pay 4 selfish of him not to
lend

T » AFHO| CHet =2t VIS LE = H8AL 70 toRFAS
|

HAL2 toF M ooy
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RHE g5l

3 »order + §X0] + to-v : ~7t 3=

= e
4 v ARYO| TR FRE IS LEILES E8A H0) toS AL
|

ol0|A 0= Tof + 2XZA,02 HA

seems, to, be, upset

Sam: JaneO7| £& & AL?
Dave: 2= EHAZITOIA 27t & A 20t
» ESATE LEUE AL toRZAL AXPYE 2B 2 SR FAL

GRAMMAR IN READING
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A of, to, take B 1 ® be ® have declined 2 for,
humans, to, protect Q ®

A
MYTIO| RA0I0F St= 2F2 AL THIZIQ! S0l WA ML=7| of
20| SREOM= oF EO GAO0| THE A9l of HE0f L=27|7t
US| B2 25t oFg W= 22 RGIC)
— Q0| CHE AHHO| M2 oFg Bl= 212 0f2[M2 LY & U
=
& LEfl= "8AHfoolish)7t x@os2
o0l FUE of youR BAIGHA Mt is + AL + of + FXZA +

A, QYRE, 1S T RE KU S0, 2E= 17t
nt AESSIHO 2 JHY RAfet A2 O{ATILE A=, Q7 7T ¥
Ho| of 98%7F B2 REXRL Lt MMMe R, O52 f29] =
7] ZHE & ot QAEHZRIHIAS iR FRUACL ISS T
E RO ol = 2 O A5 1220 O g 220, Xsk 0
2 = oY B B= £H0| 22 S Yoz nsit Q=
OtZe7t =7 FUUFZet=m0ML HARL B 29] A =
0] MYz sl 2o gdast A2 FFEIL QALY [M2tM, ¢

r

1 »® 2SALR] AH2} toRHA
® toSHAL] A7} 2EA

o2 YARBHA
2 » ZO0|Z MOl toRHAIZ H2 BUT 1 K20 71E0E &
it ~ to-vs TROICEL 2| Z0{9} toSHAL] F0{7} L2

ox
L 1o
>
=
N
my
|0
|0
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O KLY 019 LS LIELY

36 G-ZONE

#% 85 for + SHA,02 o0y F0iF YL

Q » B2= SUUFTS=0|IMEE LA 340

EXERCISE

A

1 come 2 take 3 called 4fill 5 relax 6 made
7 find

1 L 7} S0fes %8 WX 23
» XZISA sees SHZ H02

2 Aol OfES A HOIFHAIL,
> MOISAf letS 27 20|12 SIS 7T

3 3WOIM LiE U o2
> SX0i(my name)?t SHZ B0{o] H2Io| Y02 E SH

EVER RIS

4 SOIAIR, CHZ ARIOIZH O YAIS THAI XRH SRiT 6HX| 1
2he?
> MSISAf havels 257 HO2 HHSHAIE 3t

5 3 §7h SOF FOIA BHX| 471t St

» do nothing but + FHERFAL HX| ~517|2F SHCt

°
THE
u
rr
A
T
mn
£Q
u}

6 L= #HHHE HY ZOotoh=d, Yoks Wt §3FES T8t Y
2| ST
» 229 907t £l0{0f 5l11, FEA HOZ AHEHAIE Fl5
B2 madeZt 7H XMEE!
(=]

» helpe 554 0|2 AYLYAL toRFAE & O FF

1 crawl[crawling] 2 worry 3 appearlappearing]
4 escape 5 to leave



» can't (help) but + HHLHAL ~6HX| 22 2 glCt
3 R2= ES0| 5hs0 B2 RS 2UACL

» X|ZtEAt watch= =5

717t X2 Ye LIEHY me

4 O MEE2 7L "EALEE

» S let2 552 20|12 HHRYAES FE

suspect 2|&ottt

5 O|ZXNE2 ofmE|7t fFUS0| 250 G5 HUES Ja3t

» force + FX0] + to-v: ~7} - SI=E LQSICE

immigrant O[2IX}, 0|2l

1A
i
H
<
Hu
rio
od
4
ox
>

C

1 repair — repaired 2 take — to take 3 O 4 to realize
— realize

1 J4E ol JEe Ads 2 DX SHUC
» 2X40i(her shoes)?t S
2 HO{2 MUAHZALS MOF g
2 Ann2 GHOIA 49 MEIS BA| SHCt,
» get + =X0| + to-v: ~0lIA| -5k St (FHAR XA
3 0] M2 ZAIO| HIEHQI AL 58g 7228 ZoHE Zo|C
» help Holl= FHEHAL E= toRHALZ} O|OZICE,
4 1 832 J4E 5toig AR0| HOtLt BRIt =10 H2X] I
2 ik

I ru\o

1 heard them argue about
2 had his students read

3 let me go

4 made them empty

1 > XZAUSA heare 82 202 HEEHAL L= SXEAS
gt

2~4 » AfSS A} have, let, makes 2XZ HOZ ASEHAE
ESEly

E

meditation, (to) relieve stress
70%9] AFHE0| HAO| AEHAS SHASIER E& M
» MAZA helps SXA HO|Z AY2HAL} toRHA & T F&

meditation B4 / relieve Q0§ Ot 2takHCt
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A listen to — to listen to, known — know
B 1 made us feel 2 @ to spend ® swimming

B0 STt AZks
= 9| ofi{U7F ZH0MA 2t
QOIM LI “AlZE QIS =7 8t Foil YZAZACE Ellen O{EH
SHAIQIX| HEtsH AlZte LA SiF= RHATHY| LITHO| AIAIE HElE
2 Zo|ct,
» allow + SX0] + to-v: ~7} --ot= AE S=atLt /

F

O
AASAL let2 552 2012 AH2FYAIE FE

EOtZ2|7t338t=9| H0|ZE22 Wt XIgA 7t
H

[Ry—

F fOIEf Table A r X9

QU 5}

3O| AMRES 22 f g2 Foll U= AWM HokH === of

ACH OROIAQ] A HI 20l R2= I QHdoty THESH XY

Victoria2t Alfred si#HE HEACE 74710l= Two Oceans %
=]

2HE OfLE AIZtS B & QU= 2 AT 4HES0| AU,

o 4 1 4 Mo

[e]]

2ls UM J0S0| 40 HEE SN M2 ?I= SIYXN
L= 2 2=, 242 e SH=
T > AdSAHmake) + SX0] + AHRHAL
2 > @ A9 BMFE Aol HEAH S| toF YA
® XZtsAHwatch)= 552 BO{2 ASBHAL = M2
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EXERCISE

A

1 failed to find 2 happened to run into 3 managed
to make 4 tend to study

1 Lb= DHEO] ZEKIZE Grant MIE &K Z3HCL
» fail to-v: ~5tX| Z5tct
2 L= %% W s& & o Hif OFRCL
» happen to-v: ¢5| ~5iCt
colleague 52
3 1 T2 0E BiOJ2A #A AT EQNE UES o S
» manage to-v: EIE siiM ~S SHLCH
4 0] 15aH0 shYSR SAE = HYZ 325k Z>0l bt

» tend to-v: ~ot= AS0| AUCH

1 overcome — to overcome 2 encourage — were
encouraged 2 being —tobe 40O

10 M2 Ut opEg IEa 4 QU Ht

o4 QL
» enable + S0 + to-v: ~7| & & Q7| Bt

2 ANEE2 XY 0E HEZEH OUXIE Mgt s HE aret
ch

» be encouraged to-v: ~ot== HA Tt
(The government encouraged people to save energy ~.
O £=Ef 27
3 RS 20|71 BiCHe SIS RSkt ZO0L
» warn + S&0{ + to-v: ~Of|A| ---5t2tal ZIIsHCt
4 Al 9E7F FHlo] IR0 FE HE AS sHEme?
t

» permit + SH0{ + to-v: ~

C

1 were told to move 2 persuade Emily to participate in
3 was expected to face 4 were ordered to stay
5 get her to lend 6 are required to remain

1 » be told to-v: ~ol2ts &

fjo
nn

=)

38 G-ZONE

2 » persuade + X0 + to-v: ~7} St S HS5HC
» be expected to-v: ~& A2 2 7|0 A]=|Ct
crisis #171
4 »Torder + ZH0] + to-v,Q +SH
5 »get+ =HN + to-v: ~= 507 -S| SICE
6 »'require + M0 + to-v,2| +SEY
take off (HI247|7}) O|F35tCt

D

advised, not to use her cell phone right before
bedtime

Kate: Lt= %*Oﬂ g2 2 XA

Caleb: U= FAP| 20l FIHSHS AFESIA| Q20H0F S,

— Ji= JH0A | AH0| FHMetE AHEoHA| Eetl =
AL,

» advise + 2H0{ + to-v: ~O|A| --5l2tT ZAHEICH

GRAMMAR IN READING
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A @ you happen to see me ® enables us to identify
things B 1 ® using — to use 2 people are encouraged
toavoid QT

A
SAI0] L 70| RIS B EICHT 6 WY, $0) FAl0| Sets|
LS B8 Lt IS 3 F7ots X6 9Kl 2US0IE U 220] &
TEICT M2t5Pi| EITk Ol RARO| 221 719f Z0IA EHE]
S22t O 2SS FS5PH OPIES 57| B0/

i,

|
» @ happen to-v: 15| ~5tCt
® enable + 280 + to-v: ~7} & 2= QU

=2 T M

=

iCt

HAE 4 ADEEO0| 2| HFE HEA YA =7t
HePIE & W HEE 0EA F2717 0142 oyt 22X 2
A= 22X QoM 2F, AIFE2 MU0 JUE ADEES A
Zohz Z0| ACE 1 21}, HEE ASAP} oIR0 R A [
S| 0N S H2= FRI L UCH, 0|A2 HF0 H2 ¢
= 7fettt. 0] %@1% o HoIME =St 52 2XM=2 0[0E &= AU
oY E= OIROIC O Af
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0l
1

AS ofiHCt.

» @ seem to-v: ~ot= A= HO|C}
® tend to-v: ~ot= ZB&0| UCH

SiM (Z=) ~2 SHUiCt

22 +SHZ2 HHY Tbe
encouraged to-v,2t 20| A3 =Lt

HAE WS NSt AIYER ADEES

© manage to-v: A=
» 'encourage + H0] + to-v;

il

AFE5HT AE

a=}

& A== ofof Sttt

REVIEW TEST 04

A

C

middle school

D
students to follow

someone cry

canceled 2 toread 2 to make 4 to sing

were forced to

are to wait 2 are not allowed to enter
where to go
thought it right to resign 2 fast enough to catch
It is dangerous to ride a bike 4 is to graduate from

is expected to increase

will discuss how to solve

too difficult for
certain to stay

to have had a big argument
is expensive
not to delay

E® 6

F 1 fix — to fix

pay — (in order) to pay 3O 40O

for her — of her

G (A) to have been (B) to track (C) arise

H 1 ® 2 is necessary for teenagers to get sufficient
calcium
A
1 Sue: XR9| BE ALS FAHC
» SX0i(her appointments)7t S&24 2012 &2|9| ThA0]
o2 DA
2 O usHE U de =28 FUCL
» %9 a paperg TAots HEAH YOl toRYA
3 = Ui A0M eilst= g ML
» be reluctant to-v: ~st= S 712/
4 U7F 74 Sfcks A2 B2 AR H0IM eishs R0ICk
» HO| HES Sh= toR A
5 QUE7t 22N R2l= & E o AFRHOA LItoF MLt
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1 completing the new project
2 drinking coffee to sleep better at night
3 filming his first movie

D

1 Becoming a news anchor
2 coordinating her clothes 2 Taking vitamin C
4 answering those questions
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EXERCISE

A

1 his[him] playing computer games too much

2 her conquering Mt. Everest this time

3 his daughter('s) becoming a world-famous musician
4 ourlus] getting good results in this final experiment
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1 having, lost 2 my[me], asking, you 3 Dean(’s),
making, fun, of 4 being, criticized 5 having, been,
promoted
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2EE(having been v-ed)

C

1 at his becoming a priest
2 Her not coming to the party
3 having disturbed your sleep last night
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being attacked by their enemy
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EXERCISE

1 tosee 2totell 3tobuy 4 eating 5 going
6 playing 7 to strengthen 8 writing 9 to take
10 to inform 11 to install 12 to travel

O7IM 2 BAl 8 &2 201,

» expect= toRFYAE SHOZ Fot= SAt
JlE WA AETE 2o7IE AR,

» refuse= toRYAE SEOIZ Flot=s SAt
Js2 &4 2 g8 Az

» decide= toRHAIE SH0Z F[ot= SA
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» put off= SHAE SX0|Z Fot

L= OFE ol AR B AE S0

» prefer= "prefer A to B, FEIZ M0[3 LBXOZ 5

AE SR FBH
T L2k 259 BAE ZEIE sldettt
» hope= toRHAIE SH0i2 5tz SA!
strengthen Z&t5HCt
JHE LA BX] JME As oM E o 53 Kt

» A9 US LIEHHDZ forget v-ing,

D2 2 AIZH SOt GH01LS O, BT 417] Sl HEE A

O{IH?
» ~op7| Pfoll FELF2t= 290|022 stop to-vs
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» affordE toRHAS SHUZ Flots SA

1 going — to go 2 to try — trying

Lo 2ift= L LES HRE| M 2ZEJNHE EXJo Ut

3 to steal — stealing 4 O

1 Lb= 0| SAIRHE 7h= Ol S2I3itL
» agree= toRHAE FHOZ Foh= SAt

2 U7t Y AlE=std HEDE, Us BY 2212 A0
» ~ot= Ag BFUEH= A0I0I22 Tstop v-ing.

3 Steve= W =2 87 2 R, L= 7t R

C

1 forgot to turn off the computer
2 remember putting my wallet

3 decided to operate

4 regret not taking her advice

5 tried to imitate his painting style

1 »forget to-v: ~& g ULt

2 » remember v-ing: ~3H Zg 7|95

3 »decide= toRHAIE X012 F[ot= SAt
4 »regret v-ing: ~3E S 2 3I6HCt

5 »try to-v: ~of2{al OfAL

D

1 plugging it in with wet hands
2 to charge it fully before using it
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A getting — to get, to misbehave — misbehaving
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A

1 relaxing 2 watching 3 approving 4 live, using

1 L 2 LI O A B
» spend + AIZt + v-ing: ~5h= Hl AIZHS HLCE
2 L= 44 3715 2715 J|tista ot
» look forward to v-ing: ~&t Z4E TICHSIC
semi-final 4%
3 52 1 A=0] S 7EX|7t ATk o SR
o

» be worth v-ing: ~&f 7kX|7t T
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approve &¢lottt
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4 U7t er=0l Hots M, Lis Z1ie A A0l Aok 2Rk

Ct.

» used to-v: ~ot2 Lt/ be used to v-ing: ~0fl =5t

1 shopping 2 finding 3 checking 4 raising
5 sleeping

» have trouble v-ing: ~o|-'_ & 0131 = 7t
3 = Y 2740| o|H S =fRlst=at of AlZte EHCY,
» spend + AlZt + v-ing: ~6hi= Bl AlZHS AH[SHCH
4 1 3ME HE 7t 220K ¢ 4 e,
» can't help v-ing: ~5IX| 42 == GiCt
5 U4 B 0Sd2 2X A= A0 AY=SIR
A
=

| e4Ct.
» be accustomed to v-ing: ~0fl 2&5tCt
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1 no, use, complaining 2 feel, like, taking 3 never,
without, thinking 4 On, arriving 5 is, no, fixing

1 2p40] thal SEHE A88iT.
» It is no use v-ing: ~oi= ATt

2 Ut =712 288 o 4,

» feel like v-ing: ~ota1 ATt
3 JUE O s 55 motch op M2ks Sk
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» never ~ without v-ing: ~&" T{OFC -
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5 0| LESg 2[5tz A2 =7tS0th

s
» There is no v-ing: ~ot= 22 E7+S5ICE

D

1 The pianist is busy practicing
2 was on the point of hanging up
3 It goes without saying that
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» be on the point of v-ing: 8 ~5t2{& Z0|Ct
3 U0 YUY F95 A2 LY LR gith

» It goes without saying that ~: ~2 Y& Q& it

illness prevented her from going out

JEE & ME0H 20l LE7EX| UL

» prevent A from v-ing: A7 ~6tX| 51| St
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A India’s players were used to playing B 1 worth,
visiting 2 On getting off the plane Q ®
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REVIEW TEST 05

A
B

her 2 preparing 2 getting 4 telling

to accept 2 selling 2 completing

to send

taking

get & totake 7 to bring ¢ eating ¢ seeing

C 1 punishing — being punished

D

cry — cryinglbut cry] 4 O

to recall — recalling

looking forward to working 2 was on the point of

being sold 2 didn't feel like eating

E® F@ G (A) being (B) to break (C) paying

H
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@ 2 kept me from sending her
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1 Mickey= BRI & H= s FHLAMC,
» SHALS| QJ0j4 01 MickeyZt SA punishel CHA0|22
SHALS| 2=SH Tbeing v-ed,
2 L= 7k AEES 0152 7|95k ol 03g2 A=t
» have difficulty[trouble] v-ing: ~ot= Ol 0{2i8E ZCt

3 U= AH9 0|2 2ES 1 =X ¥

4 EREE o U

1=}

=
» can't help v-ing: ~GHX| 242 %= QiCH=
SA2)

4 O(0ISE 7I=E e HE 80{E A&sts A2 TfaHoF Bt

can't help but +

» look forward to v-ing: ~& Zg 1CH[7|cH]aHCH
2 » be on the point of v-ing: 8} ~ot24=t &o|ct
SYAS| 9014 0] the restaurant?t SAt sell| CH&0]
o2 YA 5t Tbeing v-ed.
3 »feel like v-ing: ~otal ACt
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@ 17t L5 =3 THE(O]| 7= SRHeIrt,
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® 11 GE7h= 0] 2t 42| ¥ = JIX7 QUL R
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donate 7|5tk S1ESIH / processed 7HS%t / prison
officer =2 / escape ESICY, WRLIZICE / critic B27t
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David2 Sam2 382
25l |2 AZE MHCL OS2 OlME A& %'0151% =5} %“4*4

23S =X 150

Davidg &% =2 25 Y& Z= o A0 Xtk
» (A) admit2 SBAE SX02 FHot= SAt
(B) plan2 toRHAIE SX0IZ Fot= SAL

(C) spend + = + v-ing: ~5t= H =5 AH[sHC
break into ZatCt / locksmith Xt=24] 2|2 / confess
Xpetsict / debt &, X

Kate= LU X9 LE|0| =CHMLL L= OR0IM M22 AFFES
2LtE As S Ue JHOI ZHHO| HAS HoP|= RAITH BE

2 U mEoll ZHAH A MBS BUX| RICEL il L= 0]
NS O L AHO0F 1, %“‘.JQI TE|7} Oty SAHRER] Y5HA|
o2 M L SRS EUY|: AR WEY HEs A U=
00| OFF AL SHA| gh= AT 24 [T 23iC,

1 »enjoy= SBME FHU=Z Flot= SA0IE2 to meet=

meetingO| &|0{0F BTt
2 »keep A from v-ing: A7t ~GtX| 5t St
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1T HER20 M Uz HAE L1 AUL?
» the womang FIOIM 4l5h= SIRHRAL
2 Z2 HR I AMQ. 242 MZB0l &L,
» Foil 2= HAF room2 SX0[LH 85 LEHHIEZ SHAL
(a room for fitting)
fitting room £l
3 A2 R7l= A2 HIZUAAOIM 01 SQ35ICE
» 0] AFS Stz ST
4 Jenny@t John2 HEAIFHOM 271 AZIE Z0F5HTL

> SA enjoy®l 20| HatS Bt SHA}



flea market HEAIZ
5 <22z LindaZt 249 ZHENA 42| X2z Ag SAUCL
» SX01QI Linda2l M- SES Madte S
yell 2] xj2rt
6 L= oM H7IX] &2 oM QT
» 01 |9 MEH- SE2 M&Echs HMEA

all the way from ~25H A5

1 spoiled 2 waiting 3 surrounded 4 chasingchase]
5 used 6 taken 7 growing 8 sitting

1 U= HXQI= Or0IXY &Sk 2 JI12FO0F o
» 52| 2|0|(a child who is spoiled)0|2 2 TARA}
2 1 Q0B ASHM FE3H1 Z|HEls A—SH HE &
K| UL
» 589 20l(people who were waiting)0|22 FHXHZAL
3 O 19 MSOAH SN & S=0 A AAUCE
24 HOE MOM 52| 2|0|(He was surrounded by ~)

0|22 IPHEAL
4 L= B ZEP0| ARV IS Z0PHE A B,
» S5 o2 Mon Tl |o|(A police officer was

chasing ~)0I22 SMEA} T, X[ZHSA
SHEMAIE THs
chase FIZCt FA5iCH/ pickpocket AHX|7|
5 <2z NS A0 S0At S OE A 4 AU,
» A2 -39 ol0|(a car which has been used)0|22 1tA
At

o] 25424 H0i2 9

used car Z1X} / at a bargain price W=
6 JUE RF ARETPE B2 ATIE 712120,
©|0|(a picture which was taken)0|22 THZA}
7 M ATE SS9 BAVE HRHO R B/16I AgE BHEL.
£ UEE XA
debt &, £xj / nationally =H2=2; ZLH0fA

» 259

8 R2l= 357t 9X| 22 84 JAIE E M Anof gfor e A
& YAt
» SEZ 202 MOH 55 - TIEQ| 2l0|(she was sitting
on the couch)E LEHHEZ SHIHEZAL
uneaten HX| 42
C

1 falling — fallen 2 read — reading 32 stealing —
stolen 4 O

74

= A

1T 4948 ¥ A

i
rr
ro

7120

il
__lT‘_

» 2=22| oJ0|2(leaves which have fallen) HAt leavess =
AISHOF 5102 TIHEA}
2 Robg frats 2{om £ AUACL
» SAHwas lying down) F0ilA =0{(Rob)el A& XS M
=0ol= SAXEA}
3 HEEM EHEE DZS2 OFR LARX] LU
» paintings’t =49 T (The paintings which were
stolen ~)0|2& =55 2[0/5t= LAHRZAL
4 XS0| AlUi2t WeIE Q= Ch2| LI0llA MFICE

connect QlC}, ¥Z5ILt / suburb w2

D

1 have never seen Sonya dancing
2 will be very disappointed if | don't get the job
3 made by the board could affect all of us

1 > XZSA seel] SHA H0|Z2 55T A0|S LiEH=
STHZAIZE A
17k A disappoint2] Ch&0|2 2 4=
IAZARE 0101
decisionsE FIOIM $4l6t= EATR, 59 20|(The
decisions which were made by the board)g LtEiL=
AL 0101

board O|ALZ], 2|23

N
v

9| oJOIE LEt=

w
v

smell, the, burning, stew

A: 2917} EfT1 0]

bEFD QUOf. HAR7F LHL?
B: 0J21! 0|24 AEOH
7t

— 52 AR EHT QlE HME 2 4= URACL
» stewZS *—!3f7| 2ol 55 - Tol 2loj(the stew which is
burning)& LEL= SIMAPE 2

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A @ expired ® cooked B1® 2aTbF Q®

AE TS fIoiA 0] GEE 7|dotiIR. 28 RAIE2 €E NS
S G0 20 RSB0 HEE LA, RIS X AF
= AMal HARRE H2MR. F Bz X2E SA01= 22|56k
2 SHO0IE &7 MR0= 0t 22 X 21 UES SR



» @ 29| oJ0|(jtems which have expired)0I22 A A}
® &2 -$=9| o|0|(foods which have been cooked)0|22
HAEAL

B

M XS 72

oMl & o F&et At 522 Newtown XA of 74
OREES S0 ZE2 O50] 20| 7i™et 2% 10A] A= 2
of YU GAl HEL2 o JUACT AL 252 F
T X0 BEe EAE A Zedn 282 XIFH Jack

08
HU
T
dm
N
H
I
=
e

St o|A2 =HEE 2 HAAN Z=S0A
= FX(0Ct O] E=E WO 4= QICf.
1 »® mena =4lots UHZEAL

©® SAe| 1A (thatE2| SA

2AlBHE DAL

i

© devices

o
S
Il
T
(&l

N

o
® 0 e o9
O oX o og
A4 g o
kS

rlo
02
rlo
40
03
" roh
o
Pal
fun
=2

1=

e
Hh oo Hu
i

U
=
B
| oof
o
o2

= A MAHE =+ Ut
1=

Ral

ro
rn
)
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inl

&2 v-ing vs. +2| v-ed

EXERCISE

A

1 known 2 crawling 3 cut 4 hidden

1 O %A7 BE AZOIA YK siFAL.
» 252 2|0|(the news is known)O|2Z THEA}
2 L= RUPLU & 912 710 22te A8 AL
» 552 2l0j(something was crawling)0|22 AL
craw!| 7|0{7tct
3 Mikex 19 02| HF=H, O ZY H2Ct
» 2=59| 9|0|(his hair was cut)0|22 TtH2A
4 50| gst EE22 0 off S0 &AM UAUCE

» 59| 9J0|(the treasure was hidden)0|2 2 IHEA}

48 G-ZONE

1 disappointed 2 disappointing 3 surprised
4 surprising 5 confused 6 confusing 7 satisfied
8 satisfying 9 boring 10 bored

1 = A7) 5ol MA JY3Hct
» HeZt HS L7l= 20|22 DAL disappointed

2 7t FME ORS0E 2761, Al 852 O U2

o

Ct.
» his test score7t AYS L7117 5t= 20|22 SHIYEAL
disappointing

3 U7} O] QEHIOIZ} HOtLE HIM ZQIX| LA Lol H =2t
2l & Zolct,
» You?t s2H = A0|22 TAZA
motorcycle 2EHI0|
4 Matt= %2 7H4M 27t 297t Rtk 0] =L
» that 0[5t9] LIR0| Z2t8S L7117l St Z0|22 AXHRAt
5 Li= J4Q XAJ0] EZAZHMAM CrA] S0{=2t0F JHCE,
» 7t E2E Lyle 20|22 IARM confused
instruction X|Al; 29
6 1 =X XM= UR SHAHYM TE 7t GlCt
» directions?t E2AZ| St= 210|122 HIHEA confusing
7 Bill2 X7|7t 7HEl Z0f| Ct=sh= o] Hof gt = Y O

o

2E= g 84 MESE I TEA242 HXETL

» dessert?t ZHEAR hi= 210|122 XA satisfying
9 19 Zo= UR XRaHM HRE2| SRIS0| HEQUC
» His lecture?t X282 L7717 St 0|22 SMEAL
boring
10 7 22 0jop|5 EI=allA 7| MR0i| L= ARSHALC
» 17 XIS L= 0|22 BAHZAT bored

C

1 cried — crying 2 O 3 interested — interesting

1 XN =ZHS0| Yt A4S =
» the poor girl0] 11 U= A0I22 XA Hoj2E M
At crying
2 U geA dd Yol Ls 4R SM Fe H 4 el
3 Li= 01=QIS0| 0ie S0|E0= 2
OlM Alehs BIX| h=Ct.
» Americans?t E0I1Z =717l otz A0|122 X4 20{2=
HAMEAL interesting

take off (2 -4 58) HiCt

A7



D

1 have this house remodeled 2 to keep me updated
3 saw many people rescued

1 » this house”t 2|22 == 20|22 LAHRAIS 0|83l "SAt
(have) + SX0i(this house) + 5%2 H0{(remodeled),2t
20| 220,

2 »me’t EE TEUE HYIEZ UHEAS 0|83 "SA
(keep) + 5X0{(me) + 552 H0{(updated).2t 20| 2Lt

3 » many people0] FEEE 0|22 HAHRAE 0|35f "SAt

(saw) + =X0i(many people) + =4 E0{(rescued),2t

20| 2L,

rescue TtASICt / emergency crew TE

been([felt] very annoyed

Mandy= £Bi6H2 AT LA IS0MEE AS0] SO

= .
» Mandy= WMES k= BA0I22 IHAREA annoyedS

MOF BT,

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A ® embarrassed — embarrassing © embarrassing
— embarrassed B 1 found this restaurant very

disappointing 2 @ impressed ® amazing Q F

>

Tl 02442 BT US f, Lru OfX} H3AI0H 710F B o]
Lt= "HOMENS 2t
X1 Tet SOLo% 248 HIHOF i HOMENO)

HEEZ0| HOIYS LY HT5| Hxet 22H0I2C

Of2L, J= L2020 o HXjet X 20

0z |
I m
_'_J

C

F

roh

0

L o
= =

SR
M
M

il
“' o

Matg =7 3H= moment0|22 embarrassing

A5 =71 240|122 embarrassed

v

® ©
l_|r£1_||’|r

N
—_

A10| A

Frontier

SERIO, R2IE 0] SAH0| & dYALE Z2 A =0

2 green chili salsa0il & ZHEX| 230, T2|1 I HAE
Y2 SEE UR M 2ote!

Bel Mondo
07| A4l 2 £t OREIZIX|Z XMT Bel MondoZ Z0tEHLCE K|
7t XEIFE | OBzt W S&S AFSH017F HUZ s2t

Jxof =

HSLCL M2IES QK| 0N, 212 SWMLCH

1 > this restaurant0] AUAZ Ot 20|22 SHIHEALES 0]
g3l "sAHfound) + EX0{(this restaurant) + 242 204
(disappointing),8l 0l&=C & ALk

2 » @ We?t ZEH= Z0|22 £52] 20|21 LAHRA
® the moist beef brisket0| Z2t&8 F&= FX0|22 5

&9 Q02! HRfZAt

Q Frontier2| 40| HIAX|ZH Melanie= PHE3ICE

93 =ree

EXERCISE

A

1 Having little money

2 Taking off at six

3 Saying goodbye to her mother
4 Traveling around Eastern Europe
5 Finishing the first assignment

6 Not having a good lawyer

rn

0| 79| SiU7| M0 ES At= 2 EI|RHCE
2 DKl HIGH7|7F A0 O|ZSITHHE 77(0] @7 10410 E&KEt 74

take off (H[87171) 0
3 JUE ool & Qla f% ot
4 = SRES 6dcle 5
5 L= M SHE 2UH10 LM
assignment ZHA|, =H|
6 Alexz= HE2 HSAIE FX| 2U7| HE0] THEHo| & 2=
ct.
lose a case X0 X|C, H SHCE
16 » EAEOIM FEARE FOHE Wt H2 SAE v-ing2
HHLO] 2AMLES BRECH SAZE X8Rl B2 v-inglt &

ZICt,

49

o
o
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202
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1 Leaving 2 Walking 3 (Being) Written 4 Being
5 hoping

0 E2 222 O Mary= AP7| OFS0] M1 QL= As LHUCt
1 Az g2 UM Uz A S0l =415 Aok

=
» ZUY XS HEHUE BMTE2 2 AMEA Leavings &

make it (0T AS) O|RCH (0T 30j
2 4SS O} 2ot Le 25| 37 o 38 TR

c;'OI 2ol

» UL 0|RE LEUE IM?EOE SE(is written)2
BATELR M5t Being written2= M0, 0O]j
Being2 d=d +~ RUS

4 SRCDZ TedE 19 HHUZF 7HE OMlE RHA0|RALH.
» U O|RE LIEE BALER R, AEA Beings &
5 AEHES 2F o0 Z0M I RFRIS AY HI|E HFCH

» 2UY SASES LEI= AR R, XA hoping
oM
= O

celebrity RF /At / in person 2%, 54

C

1 Knowing not — Not knowing 2 being drinking —
drinking 3 O 4 Picked — Picking 5 put — putting

1 O0Z 7i0F X 22tM, L= 23 271 2ol HFACL
» AT EE] FE2 AL YOl notO|Lt neverS 2L

= As | didn't know where to go, ~.

2 Lt Bt ZH2 DIAIRIA R00] Sf0F USICH
> SAP ZIHO! B beSAHS MI5HT v-ing2t H7ICk
3 YDA MU S SOt U 5.—%%8 S 40l ZHCE

= While he trekked in the Alps, ~.
frostbite 4
4 M XHE F0LR1 LM = ARO| OFHE FOjl FRIZA,
» Afdas LEUE SATE0I22 MR
= She picked up her new car and then ~.
5 Sarah= TVE 7AM =2 Aifid=2 A,
» Afdas LEUE SATE0I22 MR

= ~ and then she put on a news channel.

D

Being, exhausted

50 G-ZONE

A: Joseph, 01| 2 E2X| 2UL?
B: 0|2k SUAN. H =27t =HOjM H2 HEZ 7{01.
— =x27b H| W20, Joseph2 TR HiZ ULt

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A Detecting, smoke B 1 @ lifting ® trying © studying

others went to his or her side, making soft sounds
and stroking the distressed animal with their trunks
Qe

A

19700H Ol2= B2 MES2 MElS ifl
SIHAET|E AMEsH @11 QUCt 0] 717
ettt S71 S0 U= 717t FHs 7I=2HeH %%E7f Sl

— 371 0 U= A7IE dXlotdH, 1 71717} ESot HEE =2

o

S LEHE BAME

v
il

B

QIZIZO| BfRlo] ZHS OlohE 4 A= AL Z7N2I7t 7150] Of
= As BH, J5s 95 & Ao0)H Ap| 72 H8E oft
&S S A 2 =, 8 MR 7HR0| 2HE HotE 0|8 ¢
27|11 MX|0l= HOIS 21 ol BAMHC=Z J4E Fol21l Al
Eoh= 0] SA=JUCY ot FEl= SR8 OE FVRIE I
AZ[322 ST AZILE 72| TS Alots USfAE2, of 2
N2 DEQ| AEE HY mf CH2 A72|E0| 1 GO =2 JiM BEE
22 A28 Wi J=ols S5 T2 MOSEMHe A 8d
AL

1 » @ 2HY SAtlift7F S01710F ok, SMEAL liftingS AL&SH

SA0 LojLt= LS L= 2ATES 2H0H0f SiTt.
© U SAt try7t S0710F 5H1, AXEA tryings AL
Off YolLt= LS LIEI= BAMES tAsHoF St
© 2UA ZA study?t S0{70F 5k, SAHEAL studyingS

ArB3l %Ql HAF ScientistsS A5t= 2AFLS 2H5H
b3

2 » others went to his or her sideE that® Lo FH=Z 511,
0|0{Xl= SAI made®t strokedS 22t BAIFEC R TA|H
EC
Q @ XNgsict
@ st
ottt



[ Fewlorg gaze

EXERCISE

A

1 All our savings (being) gone

2 There being no bus service

3 (Being) Seen from outer space

4 (Being) Asked to lead the project

5 The teacher pausing to catch her breath
6 not having seen him in years

7 Having traveled a lot

1 A
»

rn

i
ro

0] BF HIESY| 20, 22l= 2
Z0f(all our savings)2t FEC
AL A0l FOIE SHSI0F St S

being2 kg 4= ACE
2 BIATHQOIM Li= OHHX[A| B 2t M3ts JHCt
» "There islwas] ~1 TES BAIFEQE U W= ThereS
EAL 20i| 20k
3 23 3UOIM 22| =E XFs ©X| shite] £2 Fo|ok,
» SHHEO| AKZE FHO ANt 22D R Had EAE0)

o 1T

o o
Hu JF;
T

A 20122

I

AN

=00} BH=t, 53 EATEOR 23 U0l Being A2t
A
e

%’—Ié é% S
» ZLHHO| F0(the teacher)@t FHO| F0{()7t Li2EZ 2

AL QA0 2|0|49| F=01E B1o{0F it
6 15 02 of S HX| R WE0 L= 30 Seans &
OFEA| L.
» SHEO AMZE FEO ANEL HMER AR EATE0]

7 d= Oﬂlso”% 0| 37| WE0f CHE Li2toll tHal B20] 2fLt,
» SHEO AMZE FEO ANEL HMER AR EATE0]

1 39| oz HHsIAN 2= 2 F=A0|C,
2 Hannah= g 271 T2 M2 7H3t5| SHorUACE,
3 e Q2| ZAE S0RP| Mz, 2= 221 H & 4 Ut
4 QEMOo = ASHA HJS0| AHile| Q20 Bdh H #als 2
=
5 DZA 077} LIotA] LQIH|, AILHOY ZAFEH TZA Al SHLt
£ 23]

1 »judging from: ~2 HHHSHAC,

2 » with + (T + AL ~0|[71] -3 A2

3 AT ZATE

4 » generally speaking: P8O 2 AsHAIH

5 » speaking of ~: ~9| 0§77} LigtoL| Zrelh|

C

1 Having used — (Having been) Used 2 Had — Having
3 tapped — tapping 4 Seeing — (Being) Seen 5 O
6 Being there — There being

1 209 @A ABEOIM 1O 7|HlE At 0% HL
Y 7IA7E MEEE WO0IEE 5 BAMTE
= Because it has been used ~.
malfunction X2 ZE56HK| 2Tt
2 2EE 6t L Don2 MA 235 op7|2 ZARHC
» ZEHEO AMZE FEO AMEL AMER 2AEY BATE
= After he had retired, ~.
3 = &7HERE AL MYS FE2UM J|-IA SRS S
E‘.
» "with + (CHZAL + 2ALOIIA BALRE 2APL 5S9| 2AH 012
2 SXEA

A,

constantly Z48{0| / tap on ~& FE=2|Ht
4 HIZI0IM LiTHEE =2 29 BE MSRHE0| 22 JH0|
H HQIct,
» the cars7t 20l= H0I22 +58 0[St a7 AL
= When they are seen from an airplane ~
5 OffE IS LOEA| M U= TEOIA A A UL
» $HO| F0(she)2t 2AIE2] 2Jold F0i(No one)7t =
g2 2A ol ojojy FUE gelct.
6 HU 809 2ES0| EXop| W20 L5 2S7tE2 Al
S AR
» "There isjwas| ~; TES BATERQE IS W= ThereS
ZAL O] 20

Uy ot

= Because there is unequal pay ~.

o
o
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D
1 X/ 20| Foigt AR 0l FH7} THE 2 0

Paulo] %0lA1 51025t Sot I ZojA A3
£ HE0| AZ7} ABAYET WAL, 2332 -

A Ki=gt A7t Lt 3t
i ARZAIX ‘E:?IEF

=
=0 57t FUXD, 2
» 1RO ZEHH SH01Zet FAlE AHAT) EU 0l 229 AMEL

222 290| %7 Hiking in the woods, Paul crossed a
skunk's path. Ei= While Paul was hiking in the woods, a
skunk crossed his path.2 11X{0F 3T,
encounter HSICHOFFX|TY] / adorable AF¥A2{2 / liquid
M| / soak (A £0M) ELH/ cross one's path ~2F 2
S| DX

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A @ Before joining them ® The ceremony having
been completed B 1 ® having left ® folded 2 There
being no one else on the street Q @

A

20|22t Z2|U2 Lawrence =T A2 B

AENOZ 1SS YOIFT| F, DFSM 2 24}

2
e

2]
Hj
2
!
u}
r
ox
rot

22 A= Bt50 15
S S=3f LT JISHUCL A0| BUT SANS NS FOR 5

Oret 20|27t CHA| 27|15 =261 7|CHCE
» @ ME L= BAE
® 2AITE9| 0|4 F0{(The ceremony)?t FH2| Z0{(Juliet)
oF HEtA] 2AL 0l HOIRlE AR

Alex= 3AIZH X0l ESEXIEL Elaine2 50| 218 QIAL
A2E &2 wHE 7t UUCE HIZE Y5 HRL AUCE
A T2 AMZ SIS0 2K M URACE 7t FEIJE ¢lo], I
= 719 SHME BUCL Zol= O ofE AT Qi
2 Mol @ Tl 2XR2t LR
1 » @ Alex7t i 39| FH|0|11, HO| SAHZLE 0| (3AIZH
)0l Yoit YOIEZ 22T BAE
= Although Alex had left three hours before, ~.
® "with + (CH)ZAH + 2ALOIA TAIRE EADE QJ0je 52
20|22 AL
2 » There islwas] ~; 122 BATECR U &= ThereS
AL L0 MM ZAITES] Q0 F=HIE B HEict

52 G-ZONE

o
® O O

>

e =
H1 om
o>
rnr o

Ho

REVIEW TEST 06

A 1 dancing 2 shivering 2 sent 4 surrounded

listening & disappointed 7 running
B 1 Not wanting to be late 2 (Being) Seen from a
distance 2 There being no class today 4 (Having
been) lll for a week
C 1 Polluted air can worsen

for patients suffering from diabetes

the graves have remained hidden

The theory established by Moore
D® E® F(A)born (B) carrying (C) helping
G 1 ® 2 With fashion evolving into a global business

A

1ot AR SO0l WA ES £ AU
S

» WeZt 11 Qli= il '1|0ID§ SIRHEZAL
shiver &L}

3 U &0l <fsh 2K O &%= 2|7} SkgO| E=L.

» This package= Ui TI720]l 25l 2T 0|22 DpFHRAL
4 MEERAE ME8 7|C2|E 00IS0] S2{M0] B0 ALY
gawro' 0|22 TAZA
S S20 SHH0IA UL,
FH0|E2 SHRIEAL
E[of MRUTh XY 2L
71 40122 1AL disappointed

FOl S0{7t= Setol| AP7F S0tk

O

M v

un N

Mo mo |

(ST}

1o

oy nin

& L

‘g wl ”r

55 0o

Ho ﬁ 19
||— |'|o ml

v
oy
2
e
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>
@
<

oN
0x
fujo

m|o ~
¥
~
0
=°.=

7 Sally— IR
Al FFRACL,
» the carZt S0+ (2] FHO|ZZ SHXHEAL

B
0 J4HE UE BEX &2 251 W 01§ =XCL
P FED FAREO| O ANV B 2e82 SAENM H
LHARE OIS Y25l SALS v-ing2 HHELY,
1 2= =2 28X 27| WA 71Xz it
> ZAL A0l RHAHE =L
2 EEM EUES I A2 0| E9f MK 22ltt
» =5 ZALE0IA Being2 2& H2F3iC



3 & £20| gV MR L= E7et JY 63 UL
» "There is[was] ~) 722 BATEC2 P M= ThereS
AL 0] 2L
4 UFU FOF OHR7| R0 I= AUt 7| I RIS ol
» Having been2 =& Mgt

pale U5t / weary 7|ZI2ZISH

—
v

W7HEAL polluted?t airs A0 4]
pollute 2@FAIZICH / worsen A3tAI7|CH
HMEALT suffering from diabetes?t patientsE oA
T4
diabetes Y=
3 »the graves?t ZHZ BIY0|Z 2 hideS WARAIR HHY &
» the theory7} 2t2l=l= 20|22 BAEAIT established
by MooreZt F0flAf 2=4]
create a sensation £t&f8 Y27t

N
v

= 0f0l=
» childE $Al5t= AL
proper X&sgt Moz &
@ Jl= HHO| 7[EE Xls 222 SUCH.
» X|ZtSAHheard)2l X2 EO{Z MQI SiTHEAL
@ HOIHOIN L= Al E2AS AU,
» a room where people can change their clothes0|22 O
7IM changing2 &&= S%{9| 9|05 X| SHA
gorgeous T, ZAEH / gown E2A
@ &25| FallM, Lis AFRE2 At9] 0125 4atof 2ttt:
2tstr}

= |-.

0%

» frankly speaking: £%/5] LoIAIH (HEXQE M0l= BAITLE)
® M| 71| Zolg EX LAt L= UR 7IXEsH o 0l §8 +
AL,

» 7F ZITIHTIGHEl CHHO0|2 2 DAL

= AN .
» his arms T8l MEZ U HA0|Z 2 UAHEA} folded?t 2t

@ sH4o] 3t ol gl He 2
» ZALEC 20y —’F—01 there7f st 292, There being

only one student ~.7 =/0{0F &

|A8H|:|—

—m

@ 1 HAEHOIM L7HEetE QS8 U R2= 7|20| iR &3
ct.
RETHUIEE 28 W2 0|22 5% FAFE (Being)
Asked?} =/0{0F &t
® X0l 22 20| QIRIZ = e MEAMCL
» 17t 20| =7lli= 20|22 Though not very interested ~.7t
&|o{or

geology XIZst

St
=

F

EfOfY TiE| & OI2| OJA) 012K DYOILL JHet Z0] At ofo]
S2 S20| 9 YOI EolL OOISHCt 27|21 7
S40| Ok SIS U & YK ATXSS 0| SEI0p}
U OSSO YT LEHR P M HAXOl 758 FH6
of 2L ATt BHOIEE SECIT £

(— those who are born)

(B) pets7t BE2|0tS 7HX| 11 CHL= 32| FHO0IZE(— pets
which carry) #xH&At carrying

(C) &4 &8s U= 2ATERR, Yol LHE0] MY HAH <
7158 EAFE FHOIER HMEAL helping0l 2tof &
allergy ¥2127| / exposure ==& / fur & / function 715
St/ immune system H< HIA|

G

o2, Yate,

y =

= H SHX0IM M22 AEHU0[ &
JHEBAM, TN ZAES SHOICH HStAZICH MEX0R2 M A=
Ol Ul RO ZMXIE FHOR FIHEQACEL T2iLf, THAM0| MAZQ
MHO R TiststoiM 2t EAI—QI =5 JHEE2 HsiCt o 014 0
25t KIS0 9] QIXHSOll <lah XIHi=li= Zi0] OfL|7|
of, 0] BMXIS2 MIA 2 XIOW CIXOIHSE GAMLA| =UCE
O] CIAOIHSE2 RS9 MI29| EAIQ AEFUXQI 4k X9
I o] om0y =<
1 » ® FHI SUS F0i(these capitals)?t XIHiS 2= 20|12
2 258 BATLE (being) dominated?t A0{0F 3t
2 > with + (T)FAL + 2ALOIA AL} 2APL Q0| 589 &
HO|Z2 2 SHIH=2At
annually 0 / hub E4IXI, &% / dominate XIHH[Z
2ottt / legacy |4t/ adopted H[29] Z=0l; ULE
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HEA i, SHESA

(and, but, or, so)

335

EXERCISE

dan
10
s
ol
o
HO
o
oo
10
iy
=
i

-

» ol [EHHEZ so
4 Zglnt 59| 7hE BF 20MAE E0lg Hhg 4 Qlrt,
both A and B: A% B £ Lt

employee X

5 OE =282 Oldtiots A2 gAl RAZ HO L =

t
t

ro
I

v

ro
:Oé
°
ro

(il

H1ZH QtEo| LHR0| XE D2 but
at least 0|
6 AA Ol &5 MOEL 2K 2oH Ho| S 4= T

AN
» T2 HHE FHOl o/t M THX| RH 02t SUL E0

v

1 go to either Europe or (to) Africa E& go either to
Europe or (to) Africa

2 like neither hamburgers nor spaghetti

3 not to buy bread but (to buy) eggs E£ to buy not
bread but eggs

4 overslept this morning, so | was late for school

5 to go camping, but she canceled her plans due to
heavy rain

1 Jim& REOILL otZ2)7t & & ot R = Z MZfo|ct,
» either A or B: AO|7Lt B

2 BOHS SHHHE ANPE|E ZOKSIAIX| =Lt
» neither A nor B: A%} B = Ct OfH

3 = 710 We Al 2t Z30] Ot EZE At UL
» not A but B: A7} oLzt B

4 LU= 25 OFE =TS AA stulof X|Zi3Hct,

54 G-ZIONE

» 2] OI0|E LIEHHE &AL so
oversleep =S ALt
5 Amy= TS 7430 AR 22 TR0l As AU

» TiZQ| 20|E LIEI= F&AL but

C

1 both speak and write French

2 not a lawyer but a journalist

3 either submit a paper or give a presentation

4 Not only the players but also the coach was shocked

—

» speaket writeS both A and BE 0Ig3H ¢1Z

2 »not A but B: A7t OtLI2t B
3 » submit a paper® give a presentation either A or B
£ 0|3l 22
4 »not only A but also B: A#2t OfL|2t BE (the coach0ll
SR 5 dRIAZ)
defeat i
D

the human resources team but (for) the public relations
team

A: Ryan2 QIAIRIOIA Y5tE, TJZX| §ALQ?
B: 0t Q, = SEEHAM Ldhe.

— Ryan2 QIAIEIO] OfLI2t SHEOIIM Bt
» not A but B: A7} OtL|2t B

GRAMMAR IN READING
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A cultural renewal as well as personal enlightenment
B 1 @ neither ® and 2 &fue} ZFo2HEHo| Eal= Hd
S& 20l Mo itk Q@

WR0| AXHS OiTHSICt ISS ARSOIH XA Z0t ofLjzt
AYES WAL 25 ULt D82 JH0I9) AZS 95t Atimot

otlz} 23t #82 |
— A2 Hele| ASER Ot



B

HH0A golozo| HE|
DO CiLR| 40 YU
A7lol 25 4 thse] A 40l BE
Ol E2IEis Z0ICt, SHmet HYORREQ| Hals HISS oI

Off fatA ettt &0 252 TIsiAL 2ys S=Eet EASEn
=

S L5
AElH0| E HESAL E O_@E?_l 1E 0[EE 2 & & Utk
1 »® 'Stu0l|E CHX| 941 QU= 5t QK| 942'02t= ojn|7t
|00 3t2 2 neither A nor B
© Stuof| CHLX| Q7L 28 BIX| 4= 20| 7tNE 4= Q=

ZE Lot YLD Z and

2 »both Aand B: A2 B S Ct

36 HAMAEL| F5H & A H(that,
whether, if), ZHC|E &

EXERCISE

A

1 knowSt you AO] 2 is@t we AL
3 rumor¢t he AO| 4 impressive@t a AtO]

1 L= Jasondt U7t FRIXIZH0|2h= ZiE SR
» SAtknow? SHOZ MOl thatH
2 Ede= eo0H 523 E2 =5=0| gith= Fo|ct
» beSAR| HHZ MO thatZE
workforce =53
3 L 27t 71E BEE SA3I0= ARS S0
» a rumor® WS BE H¥st= 5249 that®
leak (HIZS) F=aict
4 O Ado| I =St A
QleXo|Ct,
» thatZ0| FOHZ MQI Mt ~ that..., TE2Z 7IF0] tS AL

impressive 21&%2l / complex 53t

/ classified 7|29
ARE T2 IS MAIRICIL 0HR

1 Who do you think will be the next president?
2 Will you tell me what you bought?
3 I'd like to know whetherlif] Jessy is coming.

4 | wonder whetherlif] we are doing this the right way.

0 OJZ0| EORIX] e FAZN0L?
g2 F7F AV HEH0| 2 A2 H2sHUI?
» 20| do you think0|Z22 2lZAt whoE 2% M 40l &
ct.
2 Y7 BNE M| WA Ll E2?
» QR OE2 AL + FO + SAL
3 Lb= Jessy?t 21 &
4 U= 2271 01E M=z

fd
>
o

C

1 does the concert end — the concert ends 2 O 3 if

— whether

1 EMEJHZ A BLIER 22 T4 4 lone?

» YRR 012 "EAHwhat time) + 01 + SAL
2 Ue 57t R280 S5 BREX 7198t
» QIR RO 017t QIRARR! HR TARAFN) + SALS
Oz

3 1A% JH7} EXISHAAt SHEA] OFHX[Of EQUCt
» if7} 0|11 BAFEIS TXIALS] SX0{Z MO|X| foaZ
whether7t 2t0f STt

D

1 see if there was a room

2 How long do you think he will stay

3 The fact that he won the Nobel Prize
4 Whether he likes my idea

1> if7t 0|71 HAFHO| seeQ SHOI2 MEICY,
available At2 71535t
2 » 30| do you think0|22 2|ZA} How longS 2% 2 o
off =L,
» The factQ WS that0] 0|11= SZH0| £
4 » whetherZt 0|T1= HAPHO| 0|2 MY

re
x
08

ol
o

w

whether[if] he wants to join her band

Sarah: Jason, L ¥H=0] 7tl5tl ALI?
Jason: 220X, 5t A
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Q Sarahe Jason0iAl R3ig S0{EE=71?
— Sarah JasonOfiZi| XHeIQ| BHEO| THRIstT H2X| 210,
Jason2 IO HoICE
OI2APt e ZHHAREE whether i if2 HZSITL

GRAMMAR IN READING
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Athat B 1 our hope that we will always advance new
ideas 2@ Q@

A
Al9] =o| OF&] Of2|Ch= ARMO| XHAI0| HY 6t A2 US 2 ot
TZ oKz 42 AO|CE A=A FAI0] & 4= Ql= Y2 OX g
H 0| UOILIC2E THXE & U= S8 MAUUS
HOIFU7|E Hi2t= Z3Eo|Ct
» @ The factE 25 Ml F= SAXES 0|I= THA that
® (to) hope? SHOIZ MOl HAPES 0|Tl= T&At that

O Z2LH011A o 2
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2 » @ FOZ MOl that™0| Z0A HZ 0|5AI7|22
bl
® both A and B: A2t B & Ct
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36 G-ZONE

HARHO| Z4HSA |

(when, while, as, since, until, because ...)

37

EXERCISE

A

1 As soon as 2 until 3 While 4 by the time 5 Since
6 Now that

1 Holl =ASHRIDEA L= 23 HA|0 SUC
» as soon as: ~SFAtOfA}

2 REl= Yot oA Lol HA 1S50] soNchk=E 2 2
ALt
» not ~ until ... --3t7| FMXl= ~o

3 227} 3Qsh= S Fa/te FUTETE SHLC
» while: ~at= S0to|

4 I1|EHBE* WZ0|H L= 24%5| Z2kM US AOo|Ch

~g WK, ~ HENE0IRE K22 B7 7Igte UEE
by the time
finish military service XMHatCt, = 22 OFX|C

5 ©=Ib EO L= A
» since: ~ 20, ~0|22

6 JItENCEE g2 1 47|19 MVPE QIERE &+ s
Ct.

» now that: ~Q1 0|4, ~0|L|7t

FRE & = gIRIC

1 since 2 while 2 As 4 until

Ril= 2SS I 022 M= Y1 XL RACE
> A= AH B MO~ Of2HE2 EZ0[2k= 2 UE=
since
2 = MFE ZOt 7107 Aol A HoRCt
» ‘~ShE S0l ~StHMEE SO 2 ) SAI0| TlEE= F THA|
&S LE= while
3 = LIOIE HojZoll [t & 19| ZOHHX|2F SOFZiC
» HE gt 37 M0 ~§lol| mafets 52 LIEHE as
4 Jack2 19 £HIE Ct OF W7EK] ZA0] S0F URALCE
» ~S K2l 2R = SAI0|L HEi7t AL ES LiEtU=

until



C

1 will go back — go back 2 because — because of
3040

L= =3 HELE0| 2 Z0IC,
AP0 A= D[2HO] LO[2te SHMAIKZ LIS

HE,
2 2= 0] 20k0IMS] Johnson &2 A MZ0| 1S 1&
AL

» Floll HAE her experience in this field7} 0]01X|2 2
because ofS MO} it
3 Gt of7) AR 230 O s 22 Aol
= M|

e UM BAIS F3t

D

1 As, soon, as 2 because, of 3 since

1 HIFE2IE X0 1 OXtoH0lE HIYE ERCE
» on v-ing: ~StXHOFAK= as soon as)
cockroach HtZ{|&He|
2 0] 7t59| = OFEEY| R0 L JHE Z0I13i,
» HIZE S0 HAFRIF AO D2 because of
3 7t tietg &St Xl 30| XKtk
> AEAIHQE BH A0 ~ O[22 (%) 0j2k= 2 LE=

since

until, it, stopped, raining

= H7F IE WK OFLE of2f L 4= QIUL
(o)

» not ~ until ... 7| TX|= ~GHX| ALk, --GHal LEAOF ~GHC

i

GRAMMAR IN READING
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A @ when ® While B 1 ® 2 Because this — Because

of this Q®
A

U WS0I52 O I M2 HS#0E OfL2t B RAS /X
Xrof <faH IIHHE”-IEk C"—_rl ot S92 XM= S0IE2 AMAE Lot
Gt 75A1|°I | IHJHE ’éii*él 75*% *I7I01I A= Fof| =}

» @ when: ~& I
® while: ~ot= S0tof|

HOIHEE MSS S0IRs AA 7HY E=2 LE=2 oo o

Lot CIO[OEZL TUSOUE Algdt2 LAMOIH, M2ty 1 21

TS |(YAIX0|7]) HZOICE. CHOIHEES sh= R R AIES

O 0ol Mlgetez S0t [f S/ MBS0l TiAl S0 0] I

=0, iila;% %01 LAl SOILEA] A ot 71e E2 Y82 FA0|
=i

U FLUHE J(H"@Iﬁ}E 20t S84 NS A2 Ay

0l

2

A
=0| O=9| QEH% Lo 2ot SEES MER 71T SHRE
HHE [ ojt,

1 »® 87t o2 OOIHET} XMES E0l= ol =20 ¢t &=
W&ol BIZt Foil 1 0|R7t LIREE 0|RE UEl=
T&A because?t MEsITE

® gI7t Foil MF0| CHA| S0iLts HE g
EfLhE ™A whenO| XEGICE,
» thise HHHAO|E2 because= because of7t E|0{0F ST,

o2 ‘g U

FAEL SEHEA
(if, as long as, though, so ~ that)

38

EXERCISE

A
1 though 2 While 3so 4if 5 In case

1 U= S0E 0§ ZO0rett), SHAZH 17 &okK= R,
» though?t RAIZ M0 22 o Fof| 28 ‘TI2{LI'E 20|gt
(althought 0| 8¥o2 MX| 0k8)
2 L= 252 B71K 22 LY %t.'_f% Y ZHOIRAC.
» while: ~QI BHHO{|
3 e RE XS URL 2850 GiM Lis O Ml Hrdgt
Al + that ~: OHS --SHA] ~5tCt
£ O 0218 S 712H 25 MikeOlHl =2
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» if: ~5IH(= whenever)
5 HiE2|7} Cf 2 ZR0| CHHlshN SHE SM7|S 7HK 7tat

» in case: ~& A0 CHH[SHA

1in case 2sothat 2 aslongas 4 although 5 unless

1 SlojHZ Z<0] CHHISHA 20j 0I5 S HOoiS0i2t.
» in case: ~& A0 CHH|SHA
2 Wt ze =24 Ui TVE M.
» so (that) ~ ~3t==, ~o7| £I5t0
3 Hol MEHX| ¢= o f2l= 7100l HE =8 AO|Ck

r&"

» as long as: ~5t=
4 SH2 Ot A7l XL QALAHOIUCY,

» although: HIZ ~0|X|2H= though)

5 0 YHE7}£20| € 202 MZX| Y=k, U XIS JtT B,

» unless: Bref ~otX| LCHA= if ~ not)

C
1c2a3b4ad

1 22} mEEo) Cidol met AT2ie 89 4217t SHCk
c. Lot SOi210f W2t L= 7[ofete o7k Itk
>~ w2}, ~2i4=

2 JElg 21 s o, Ues I8 TR

a. Woh 4ol S0iZtE W, Lis =Holl 22 M J3E ORI,

» ~& M= when)
3 L= OHIPA 5240 ZiCh
b. &AM Lh= M5t RS AL
» ~ IHE0l|(= because)
4 E0iME 2010I10] St tHE shak
d. O AAL L7t Yots H2 HEOXC

» ~5t 2, ~Q1 ZXZ(= in the same way)

D

1 No matter what he says 2 It was such a good book
that 3 so that we can talk in private

1 » no matter what: FAUE ~oiE2t=

2 »such + (alan]) + AL+ AL + (that) ~: 1L ~St --2kA
~SICt

3 »so (that): ~ot==

58 G-ZONE

if you are not authorized

A 2| 0|FC=2= 2 2= gl0], Tim. O] XS £t
B: 7?7

Al HI7F 7t X =0 0B 2= & 4~ i,
» if ~ not: 2ol ~5iX| b=

| 2 (=
authorize #8t2 S0{o}L, 5{7fotct

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A No, matter, how B 1 @ Though ® because 2 As
this metal flows around @ the magnetic North and
South Poles

>

Aol 0|Z M= FAI0| HR0| MEsithe A8 HoiFe fHO|C,
Zd% O] O X|A0|Lt ARlE 7HREA] ZEfalof
Of=HIO0|E AT AF3H0F Sh=, Z1A10] 7E| Al o
S 7| TZ0]Ct,
fA19] 0| OFF 2| tiEX 2 HOE, IRS 0[2Mof 2
Ag 145({0F B,

0 matter how + SZAHEA}]: OFR2| ~5IEEtE
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B
LHEE B2 SS0A OEA 2717 S8AE, G0l A2y =
=0 ALH LR  5S 72l AOIL 0l A| £50] &
2= oM iU S50 U] HZ20ltt XA S92 1FE 4
OJX[2t, A7 S=2 1800Eth =0 Mg X7t Tt 022 of
11002205 O|SULt 0] 0I52 AIF2| A7IHO0| ek Hal5},

°'7| MHZ0 LAUBHTE. R|TE 2fsh0f U= A FH0] AV |ZS 2

0l 540 o FHE 55 W, V| S50 =2 BY/0| 0]

IZt0] 228, OS2 YAIK AXIE HHE =
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B
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REVIEW TEST 07

A1 Though 2 As 2 If 4 sheloved 5 so & even though
Blc 2a 3b
C 1 couldn't believe that he shook hands
as she was taking food
his class is not only informative but also
As soon as the thief saw the police
in case you have an accident
D 1 am sad because she has gone back to Canada
won't learn anything unless you do your homework
betrayed Dean although they had been friends for
10 years
E® ®
F 1O 2 when they left 2 whetherlif] 4 or 5 because
G (A) but (B) whether (C) as
H 1 @ because ® either © Since 2 they established
new rules so that they could protect polar bears

A
1 HIZF 2| UE = opHH| =27t Ko{ ULt
» (al)though: HIZ ~O0|X|2t
2 AZHO] £OIX|1L oL O|H| BT ST
» O|RE LEtUE= as
break off BCt, 22HFCt

3 2USf OtRE HESE M40 ES0kekl HO oHX| 22=HE Jim2

ol 57} = 20|k
»if: OHY ~a2tH
sole ©=9| / candidate £&
4 7t o JFA Kle MESHEX] O A FFICL
» ZHOEEE "OIBAL + 0| + SALC| O{EC R £AL0L,
5 Serenac MR ZIHHA RE EITLE0| J4E ZOFSHT,
» 1S LIEtE so

=2

6 U7t = HOILE MERHSOT S5t 0] AHEE 0475| HCL
S MHZ 5122 7p™9| ou|E It

> SEHEY 0] 718 At
x

Xl even ife & 4 QiCt

1 DR DZ3UCh=E AFHOIE S50l 2= SAK AA] 411 A

c. L= Rt tiA oHXIE i aH0F Bttt= 119 2|70 32

roh

=

» 2

o 1N

ZAZEg 0|1 that
alternative CHA| 7tsst o
2 ¢FEE2 Xx7| WK0| 250

210 ==
= 2 20E.

2t FAHE the fact®t his opinion?l LIS B35 HYst=

a. I MES2 W7 =502t As SR,
22t show@ proved?| SX0{2 Mol HAFEE 0|1= that
3 O 4R E2 7198e 1 A0IM OFRAE Mol & ATt
A
b. 1 ®AZ2 UE RE6HM R2= 2 X2E oo &~
dCt,
» such + (alan]) + AL + YAt + (that) ~ 0§ ~8t -2tA

<7=1J‘l_>

50 + BSAHLA] + (that) ~ 01 344 ~51Ct (2

reserve Of2FotCt

1 JO&= A7|74 O ouf et A43ith= e 2
» believell ZX0{Z MOl thatH™

2 Amandaz 2E0M S4S HUHHM &8
» as: ~olHA

HIRAC.

3 U= 19 £0] RASER OFLI2t THO|UCHL = A2HpITt,
» not only A but also B: A%2t OtL|2t B
4 1 =52 ZEXE BAOIRL OE Yo s gl

» as soon as: ~ofAtOLRt

5 G2 M7t E FR0 HH[sHA 6l 2EE S0{0
St 2

» in case: ~& B0 CHHISHA

JIH7F U2 S0t HM Lis 20

on

2 =HE ofK §oH HE Ol R 8iRX| e Ao|C;,

» unless(= if ~ not): ~GtX| 2O™

f

o
Ry

3 1=0] 1098 3¢t IFUS0 T =73t Jane2 Deang Hid!

52

ck.
» although(= though): ~0I= £15t11
betray i&ISICH

@ Briant Sally & Ct 21 Xt2|of HE3HCE
» both A and B: A% B & Ct
© 1 Hi*= HR 2E6HM THAIS SIofHZCE,

» 5o + HEAEAN + that ~: 0§ --5HAf ~5tCt

@ L}OHE Wi7tX| &5 OAIX] O L.

@ W2 AYSS T BRS0| DU oM MESK|

> if7H O THE AR TAIAS SHOR MY 4 gooz

whether2 WOF E
6 1Yt =7 ™

of H MAS B T01E

T

qualified 29|, Xt40] QU= / miner Z=

L

o
o
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5ttt RUXICt / orphan 110t

1 1 ZHj= FUSHKIE ¢ QFNGHK| = 4Tt
» neither A nor B: A, B & Ct O
equipment H|, @8] / accurate F=t, FU
2 OS0| 2X 3L = M=K ot?
» HEHAZER2 "ARAL + O + SALY O
3 HiHE2 O EAPVE RAQIX] OFHR] FE == QUL
» whether[if] ~ or not: ~QIX| OtIX|
jury BRI / guilty RZ[Q1
4 HPZO| 4t ZES YUK ¥2H &7|of 22 Ao|ck
(~

sti2h) 22iK| o8 -

B—r

b

ol

» BEZ +or ..
5 Ch2|7t HAHEO] UM El= FcHM 21U 4= ALt
» F0fl =O| O|{X|2Z because of7} Ot Z&T&At
becauseE MOF ST,

G
ZA Bel AM2 Has| 7IMARISH 74T YS Ot OFL2t 02y
Of &3iE = U= ASO0 Tish 0[0F7[0ICY, 2EAHO AFEE2 S
ket Fat £0] YHES0| HY HHE = Uk SFMHSAE 2
2Ct SkX|EF 25Y, 7180] UXGHA 22 Wit 201 Arsktet 2
0| E7+SSITIT HAXE AS0| SA0] HACH
» (A) not A but B: A7} 0tL2t B

B) whether ~ (or not): ~QIX| Op-IX|

— =

C) as: ~&toi| a2t
science fiction 34 2kt AH[H3Y] / impossibility £7ts
A, "27+s8t Y / advance TIESHC

H

x|

(i

rir ~
ron
_O'E
rir
0z
12
[0
2
fuin
:Q
__lT‘_
=
0x
12
=
o
fun
<

1 » ® because: ~0|7| HE0]|
®© either A or B: AO|7Lt B
© since: ~et 0l2i=
2 »so that: ~ot==
drastically S35l / recklessly 257 / agreement
™ / ban SX[6tCt / limit MStotCt / stable QFEXQI
/ establish HZ5ICt, MIMSICH
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+& Special 01
A

1 have visited — visited

2 has been built — was built
3 will offer — offer

40

1 LeEoRs o 222 U2 M| AUt
> EAFEO| B 1 AHE LHEIHEZ SRS 2 + ©
Ct.
2 5 ds SZEok= Hals 201280 AR
> Julih 0t AIFE LIEHE D= Stz
3 T GOl Lol 2= 102 OfLE LY 11225 &0H
Ofit= L= 2= 10828 0 e Ao|ok
> ZZ10] HAPRO|A= O[2HC] Ol SHMAIMZ LIEFHCE
4 ZEO| AT THAMS W HIA7|2f Bt 0[0] O0] HiTHO &

T

ERa

7 ik,
> ZEO| EA[5P| Ho| Lol A2 LD Hapiz 2 4
ouck,
B
@

AEe HAVIE gE5ts 0= ©2 &Y Jimmy Carters
1994 022 o2 L2ts8 S22k 20018 WS, 1= &
7| ZRHEO| FHOfoH1 et=2| Otita oIt 1A
AUE ARSI TS X0 Fais =6 A HRV| 289
Ch J= O] MALS 215t AHSAKISD &7 LY=L, 0
J19 015& mA Jimmy Carter Work Project 20010]2t
E0CL
» @ ORtHS RS A2 UG 172001 HE)0I2Z DA
£ Arg3stof Bt (has visited — visited)

@ LASE MR ALELD U LS HEE iz

@ At campaigns +A5H=s SEAN S toR YA

@ 1 £ A0l et dS LEILHEZ IAAIF|

name after2| Lf&0|22 ~SEY

oz po M0
L o
2 © 1

>
ou rir

0l

k1

® which(= the program)

+& Special 02
A

1 must cry — must have cried

2 was sentenced — (should) be sentenced
30

4 prefer — preferred



2 1 ZAie Tjavt JE 10EY¥S MIIEotoF Stotn FASHCE
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